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Fneuid 21a1a : 15 Bdlitd + 3 1penf) Lo 1B ssssrserr 1100
Time allowed : 15 mins + 3 hrs Maximum Marks :100 ’
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness, I§

inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams, -

2Alayeor : (1) iy olemdasend sfung sidar ubams) 26TeTST TaLmS

Fiflunidgs0anerenad.  id ' 1halsh @GDUIHENIGET  Dienmds ‘
saanailnanfliib o 1 angwns Qsflal saaLb.

(2) hovid - svavg) sl @iouflavar GO TUPHINSDESD g
Camg(busp@d  LweiL(bds  Gaen(ho.  LLAGT eSS
Cstrdled Liwshi(hd e LD,

M. PALANIAPPAN, M.Sc., B.Ed..
GUllL : Qeiellensger prehE Lgdsmand; CIBTETL ). B.T. Assistant (Maths)

L@ -1/ PART-I SGHSS., NERKUPPAI, SVG. Dist |
(Lo 1Glictsralr = 14) / ( Marks :14)
@y = (1) @Lufleflev 2 6irer 14 aflesnéasemd@tn eflevLwelldsab.

Note : This question paper contains four parts.

(2) Can(pdsii(herer miahiE wrHy oLselss Waan FHwimes
oL ews  Gaipts®ss) GO (et el ulevenuyd  Gaide)
GT(LPSHALD.

Note : (1) Anwer all the 14 questions 14x1=14

(2) Choose the correct answer from the given four alternatives and write the option
code and the corresponding answer.

1. {(a,S),(é,b)} AT G QP FLoafld FmfL ereilled, a OMID b wHliLsenTeues
weapGu

(a) (8,6) (b) (8.8) (c) (6,8) (d) (6,6)

If {(a,8),(6, b)} represents an idémiity function, then the value of a and b are respectively
(a) (8,6) (b) (8,8) (c) (6,8) (d) (6,6)

2. 7 = (o’ 3 100)

(a) I (b) 2 (c)3 (d) 4

7% = (mod 100)
(a) 1 (b) 2 (c)3 (d)4
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3. apadimy  onpflaafledy  oimindgs  epadim  Gpifhuch  aoshiin(baeiletr O NN,
diayaser @ebanav@iafled, 1g00sm@ I O_6ir6n Genbismelr
(@) G gy Lyairaflufieh Glan (hib (b) ep GarL1g6b Glaut’ (hLb.
(c) epadrnfledr LBg) padiml Clnpibgid () eedranmGuineiim e gy

A system of three linear equations in three variables is inconsistent if their planes

(a) intersect only at a point (b) intersect in a line
(¢) coincides with each other (d) do not intersect
4. Lan(asrc L uLGHe 2BAC=90" ohmid AD L BC srasfled A
(a) BD.CD = BC* (b) AB.AC = BC?
(c) BD.CD = AD? (d) AB.AC = AD?
In the adjacent figure ZBAC=90" and AD L BC
ZBAC=90"andAD L BC then E D
(a) BD.CD = BC? ‘ (b) AB.AC = BC?
(¢) BD.CD = AD* (d) AB.AC = AD?

5. x=11 194 Qan(hdhaiii L CriGaL 196 FLOGSTLITL TGS
@) X <idada@ Davaw (b) Y - s & 5@ @anews
(c) bl jeirerf] aufls Gaevaud  (d) (0,11) 6168 LyaiTei aufléd CFsbapiid
The straight line given by the equation x=11 is

(a) parallel to X axis (b) parallel to Y axis
(c) passing through the origin (d) passing through the point (0,11)

2

6. (sina+ ccrseca:)2 +(cosar+secar)” =k +tan® & + cot’ & erafled) k -s7 LoF'sny
(@) 9 (b)7 (©)5 (d)3
If (sina + cos eca')2 +(cosar+ seco:)2 =k +tan” @+ cot” & then the value of kis
equal to
(a)9 (b) 7 ()5 (d)3

7. GpIF 2 (hememuileht 4/7Lb 6T 2 wHElev eLpesImled e (b LikIS, 6Tax ey s Qomd sl
LymogiLy

>

(a) 9];}2' FAVGS6T, (b) 247h’ F21600@s6T
87h* ) 56xh’ '
(c) F.AVGHHGIT (d) F 2AVGHEBEIT

The total surface area of a cylinder whose radius is -5 of its height is

2
(a) = sq. units (b) 247h’® sq. units
8rch’ , s6mh*
(c) 9 Sq.units (d) sq.units
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8. Qan(hSsLILIL L emauselsh 615 Saumeg ?

(@) P(4)>1 (b) 0< P(4)<1
() P(¢)=0 @) P(A)+P(4)=1
Which of the following is incorrect?
(@) P(4)>1 (b) 0 P(4)<I
(c) P(¢)=0 (A P(A)+P(4)=1
9. =3,-3,-3,...... GTGYT LIS 6T B O\ aurflang?
(@) L (hSOBLT auiflang (b) Guimd@s QL auflans

(©) Gropsads @ressi(hLb <i6hev
The sequence —3,-3,-3,...... is
(a) an A.P only

(d) gl BEGQILIT LoHMILD QULIH:SGICBTL T

(b) a G.P only
(c) neither A.P nor G.P (d) both A.P and G.P
10. i -a LD_!_I')LDJLb (x-— 0)2 ‘@Gﬁf 6.5
(a) (x3—a3)(x+a) (b) (x3 —-a3)(x—a)2
() (x—a)z(x2+ax+a2) (d) (x+a)2(x2+ax+a3)
The LCM of x* — a* and (Jc—a)2 is
(a) (x3—a3)(x+a) (b (x3—a3)(x—a)2
(©) (x—a)z(x2+ax+a2) (d) (x+a)2(x2+ax+a2)
11. n(4)=p, n(B)=q eresflev 4 LopmiLd £ 4@ Ben Guw HevL @b Gionss 2. mayserficsr
GTGUITGsI e
(@) 2° (b) 2* (c) 2" (d) 27
If n(A) =, n(B) = ¢ then the total number of relations that exist between 4 and B is
@@ 2 (b) 2 (c) 2 (d) 2%
12. 65 tommith 117 Awaummler L5.C1Lim.eu-aney 65m—117 erairm QL9 aileh 61(LpgsiLh Guingy
m=GiT LOILILY
(a) 4 (b)2 (c)1 (d)3
If the HCF of 65 and 117 is expressible in the form of 65m—117, then the value of m is
(a) 4 (b) 2 (c) 1 (d)3
13. ggneflileliaphgr  foLsslGupp  soayLLcTeSER®LL  clevdahiseesr
g (VTS

(a) GTLIGIM(LPGILD LBens cTevsT - (b) eTLOUTLpGILD Geom cT6HT

(c) y&Sluid (d) LFAULDD Wppssar
92
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The sum of all deviations of the data from its mean is
(a) always positive  (b) always negative (c) zero
14, aTHmSGsTewILd opmitd BnasdGsHnewlhisemal i (hLd S50

(d) non-zero integer

(a2) HCuwir_enev” (b) BenevL_meVGHIL

(¢) QuiflevGaITL (d) QwrrenaupiTdid]

The angle of clevation and depression are usually measured by a device called
. (a) Theodolite (b) kaleidoscope  (c) Periscope (d) Telescope
\é @&~ 11/ PART - 11

(Gt aer : 24) / ( Marks : 24)
10 cflearTdias@md@ eflenLwiaflds. aflewT eTatsr 28 -d@ SLLMULDTS efevLwerfldsab
Answer any 10 questions. Question no. 28 is compulsory. 10x2=20
15. (b Bufli_tb 532 LBOHTL Q&6 2_6iTaNew. dian] auflenFd@ 21 LHOBTL LG H6IT QLD
S(pds almolienny. srésmen auflaFaer prpen GLMID GTEIRYLD LOMHMILD
TS LYHOSTL LG ST LEHLENHSHSLD GTGIRYLD BTG5S
A man has 532 flower pots. He wants to arrange them in rows such that each row contains 21
flower pots. Find the number of completed rows and how many flower pots are left over.

16. $ds: x* —13x* +42=0
Solve: x* —13x*+42=0

17. el A6 auflend pXq Lopmib et B et aufleng q X 1. @5 iswsllseenyid
QLIS WpLguyLb 6163160 AB LoHmLd BA S4dlweumplesr euflanganiLid: Hressis.
IfAis of order pXq and B is of order g X r, what is the order of AB and BA?

18. f eratin  epamengy  f(x)=x’-2 e aupumssiLBAnS. @m;@
XE {—2,—1,0,3} orev1s  Opnevomed (i) f~ebr  2myliysemersy ULLgued(h
(ii) [~460 &) Q@ FATLITGLOT?
A relation [ is defined by f (x) =x* =2 where x€ {“2,—1,0,3} (1) List the elements
of f (ii)Is f a function?

19. APST ~APQR er6w Hlmiays. 2 A
Show that APST ~APQR s i N ,
- 20. (5 GaTLTLD FavdGd OFhiGSsns o arangl. CETLISEHNT SnglILgHuIemis)

gouileh 4815 Glgnamevailed o arer g  LeTemuNeSmbg) Ganyy o ddufs
gnm&GanemLd 30° revfled, GHmLysHlesr 2 WITSHMSS ST6HwS,

A tower stands vertically on the ground. From a point on the ground, which is 48m away
from the foot of the tower, the angle of elevation of the top of the tower is 30°. Find the
height of the tower.
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B e R e R o L A e N B S BB RSB SREn

; o n 24 Qb
21 @@ Gpfar’Ld g o sear sienay 11088 5.00.48 i, oot o-with 24
GTGUTIG, GG DTLD BV,

, o ok y the
The volume of a solid right circular cone is 11088 cm’, If its height is 24 cm then find
radius of the cone.,

2. P(4)=3,P(B)=2upis P(408) =L cote, P(Ar2B) g snins
If P(A):%,P(B)=%,P(AUB)=% then find P(Af"‘lB) I

23. A={m,n} wipioB=¢ eefles () Ax B wopmitn (i) AX A sneirs
Find AXB and AX A for A ={m,u};B =¢

25 9482127, v 183 616810 g (b Qg1 fauflanaufesr (h 2 mILIL|E®ETI; HTETS.

Find the middle term(s) of an A.P 9,15,21,27,........183.

25. @orestlett sHGunesi anubdr @ioLkGsn( oerand: gl 19eITe L LLg),
@Logeilest @resinan(ba@nse WhsWL QILSULLD AafeT 4 24687(h H(EHSH G L
b anuengin CLimdss Sl LiLgh@d Fiotb eresfled, Sieumlest HHRLTESHW
QUGS S HITEHITS.

The product of kumaran’s age (in years) two years ago and his age four years from now is
one more than twice his present age. What is his present age?

7
2. (=4,3) eretrp erefuisr anfl Gssvaugid ik FTUIAITS 2 GOLUISHILOTET
GrB&GHML 19 68T FLOGHTLIML L& FHTe8sTs.
7
Find the equation of a line passing through the point (—4,3) and having slope —-g.

27.20 sgeys yeiraflast QanGasiice elansder  Hiafadan 6 e
@albleun@s gras Lerefiyn 3 4 QUESELILL LT Sl &L .r;!:!j'ﬂiu
yeitemgeflatr Sl 1 aflevdiaid Lommith vss auided Fngnef srens.

The standard deviation of 20 observations is \/_ . If each observation is multiplied by 3, find
the standard deviation and variance of the resulting observations.

28. @@ Bmrauanid 25 Ggpdsaildd CFysmen p LA Lg. s Camaied 1|
ClFguytd, et neugy Gpmaileh 3 Ciguid, epatipmeugy Ggmaieh 9 OFLguytd B
tpyey ClFdutin’ L g @aiGauama Flannaemi i 615gmeT CF 19 56T Coama?

An organization plans to plant saplings in 25 streets in a town in such a way that one sapling

for the first street, three for the second, nine for the third and so on. How many saplings are
needed to complete the work?
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10th Std SSLC Model Q.P (TM) Meenakshi Offsét Printers

U@Qg?- I11/ PART - 111
(o Ouadserr : 50) / (Marks : 50)

10 cfenTdasEnd@ olepLwerld:s. allewr cTal 42 -di@ SLLMULDTE e werlldsa)d
; 10x5=50

Answer any 10 questions. Question no. 42 is compulsory.

.t areitp Ty Qeadluaiey (C) o6iren QaniblmeeLLD, ungesTamL196h

(F) 2 6iren Qauliflevevanititd @anew i@l FrjLn@Lb. GLogid 213 1(C)=Feren

‘aegumdbstC e, (@b, F=%C+32) G ¢(0) (i 1(0)2212 25

Ams@oGurg C —sor whiny (i) Geevbfwsiv b ungesraml”  oglitb

FLoLomas @m@Lo Qs QeauliLflency HSaDenns: 516w s.
The function t which maps temperature in Celsius (C) into temperature in Fahrenheit (F) is

defined by 1(C)=F where F=-§C+32. Find (i) I(O) (i) the value of C when

¢(€) =212 (iii) the temperature when the Celsius value is equal to the Fahrenheit valuc.

, GrsnafLid 10 OB, 11 Qwib, 12 QF.Lb,... 24 OF.LD 61651 LISSH SenaGiTan 15 il

Q) euetTewld; STEFHIGET 2 6reane. @lhg cuetTenTdh EnHFhIsemend Osness(h

ETHIGUGNE LITLIGDLI DL ) SHGUBISHHShS (LpLYUjLD?
Rckha has 15 square colour papers of sizes 10cm,l1cm,12¢m,...,24cm. How much area can
be decorated with these colour papers?

-1 3 =4 2 3

Flungss

1 1 P 2 -7 6
IFA=( ], B=( ) C=( 2]verifythatA(B+C)=AB+AC'

1 =
_,q—( l} B:(l 2} C[ 5 ZJHGUHGUA(B+C)=AB+AC GTGH LIS

-1 3 -4 2 3

. gnsgsiv Ganmdms e1pd) Himiays

State and prove Pythagoras thecorem.

. 608 swgapeiter  sevkismy  dlersasdler 2 4800 mES  epant

sL6vLoL" L Ghlayieiten @\m SLiLcvS6T (LpamGis 28° Lommitd 45° @mdisd:Gs e ddhlsh
LmgSEpm. e sLiLeH HEDTH SLLISESL e @Gy HevFulleh sevihisair
Nensdsdg et GpiGsnlyed oareng eafled, @evw(h SBLILIGOH @I LD
DL Guiyairen G\gpmenevanauds Hmetsrs (tan 28° = 0.5317). \

As observed from the top of a 60m high light house from the sea level, the angles of
depression of two ships are 28° and 45°. If one ship is exactly behind the other on the
same side of the light house, find the distance between the two ships (tan 28° = 0.5317).
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34.

35.

36.

37.

38’

39'

owgh 10 Qa8 whmnd of'iid 4.5 Quif 2w @u GEiaLL 2 (peeneni

O (s 1.5 Qb ol Lptd 2 16LE BLgLosht QENelsTL GTHEHEET GUL-L aNeLamneUAHeIT

CHemau?
Find the number of coins, 1.5cm in diameter and 2mm thick, to be melted to form a right
circular cylinder of height 10cm and diameter 4.5 cm

au@LiLg Caiale Lonemauisar Qupp Ll OuasadT £8ip Qan(hdisliL (heTened.
e seflet LB CIe @@ S L allevdaLb Smeiss.

X 4 6 8 10 12

S 7 |3 5 |9 5
The marks scored by the students in a slip test are given below.

X 4 6 8 10 12

F |7 |8 5 |9 5

Find the standard deviation of their marks.

A ar6iTLg) 8 g flLd @omaunesr @uieh cTessellest Sewild, B cT6tTLg 8 & aflld
GGG LIGT  GIa8sIS6a &awrid opmid C eTetTLg @pLlent i LIeDL LI&T
s1atgener b aaflsh AX(B—C)=(AxXB)—(AxXC) erené sluniés. |
Let A= The set of all natural numbers less than 8, B = The set of all prime numbers less
than 8, C= The set of all even prime numbers. Verify that Ax(B—C)=(A4xB)—(4xC)

Sn:(x+J’)+(x2+-‘€V+y2)+(x3+x2y+xy2+y3)+....n 2 MILILJ&EIT
© (¥ -1) yr-1)

x—1 y=1
If S, =(x+y)+(¥* +xy+y° )+ (£ + 'y + 07 + *) +...n terms,
xz(x”—l) yz(y"—l)

sresfled (x—y)S, =

then prove that (x = ;V)Sn -

x—1 y—1
oo & Eaal® 1§
59":9'55 L'i"————=—-; _—— _1-__1_+£=2£
2x 4y 3z 4 x 3y x S5y z 15
1 .1 1 4 31 1 1 1 .4 2
Solve ——'l'——---—=—3 —:_;_.___+_____2_
x 4y 3z 4 x 3y x 5y z 15

‘@ 2 meenuier Lhg @F QLSS QOeBSUTY] ALOHS (1 Ljeedlsr

Gorgs 2.wgib 20 GF.L5. 2 (pewenuiesr 2.wgd 12 GF.L5 ommitd e Lib 12 G5,
G0, @ew_daam_gdlar Cuopyp oL ib 24 Q.5 eresfled, Lyemalalr Qeverllicymis
LIgLIGOLIS Sew1d5) (b,
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e e o

40.

41,

A funnel consists of a frustum of a cone attached to a cylindrical portion |2 cm long HII{ICh:}(I
at the bottom. If the total height be 20em, diameter of the cylindrical portion be 12¢m and the
diameter of the top of the funnel be 2dem.Find the outer surface area of the funnel.

50 LomeIaIT ST o_6Ten g Gl Iev, 28 G N CC-uflai, 28 Gri NSS-gpiLh LODMILD
10 Guif NCC ommytd NSS-gujib Gafdreﬁ)gﬁnxjasair. G(!h LDITGUSI QU] FLORITUILIL) (LpaoDUIGD
GaibOsBdal b, e (i) NCC ~ufed @b, 2evITeY NSS-60 @)ebeurTLoey
(i) NSS-60 @mibg. 2amed NC C-ufled @)evevrrinet (iii) &petTGD apatTleh ot (hLDb
Garibg @HLILBHHTET (DL SHB@ B h HITGHITS.

In a class of 30 students, 28 opted for NCC. 28 opted for NSS and 10 opted for both NCC
and NSS. One of the students is selected at random. Find the probability that (i) the student
opted for NCC but not NSS (ii) The Student opted for NSS but not NCC (iii) the student
opted for exactly onc of them.

P (pSGHTGRISEG AMGLILIGHD  IFET GhgIses L 4 Q&8 UF)BLD.
wp&Ganamgdlast Lnliea 48 Fain QF.f crauiled, BIBEHT DIGLIIGSHLD LommILD
GIENTSET HHGNYSIEN & H16ITS,

The basc of a triangle is 4cm longer than its altitude. If the area of the triangle is 48sq.cm,

" then find its basc and altitude.

42,

P PFHBSTEMNSHH LIILILY 5 FSIT AHWGHET. (2,1) whmup (3,-2) 2iser B
WL LieTeMsaT. v=x+3 eTeim GhiHGa1 196 183 eLpTDTIS) (LPFGITLIL/GTEN]
* UGHLOBHTG) SHSE S HTGHT .

The area of a triangle is 5 sq.units. Two of its vertices are (2,1) and (3,—2). The third
vertex lies on the line v = x+ 3. Find the third vertex.

Lig$)- IV / PART -1V
(LS I6IcdTas6iT < 16) / ( Marks : 16)

SipdianemLd eflewndis@ndi@ efeL weldisajLb.
Answer the following. 2x8=16

43.-&!)_y=x2+x——2 @t GuedTLILLD GUEIBG <SG  ELPGULD X +x-2=0 erebrp

FLOGTLIML LG a8 ST dhHayLD.

a) Draw the graph of v = x~ +x—2 and hence usc it to solve the equation x}+x-2=0.

)
b)

(OR) (216b605))

SF&H%: 2x+y+4z=15. x=2v+3z=13, Ix+y—z=2.
Solve: 2x+y+4z=15, x—2y+3z=13, Ax+y—z=2.

44.91) Qan(pdsLuLL  (LpHGHI1essILD ABC-u96lT 5% Ligsigenasr  afldlsLn -g— GT6ul

SIGLOW/LOTMI &(Ih g Qaund s LpSHGHTesmILD euenid. (66 Hyesst) _6_)
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)
a) Construct a triangle similar to a given triangle ABC with its sides equal to g‘ of the

corresponding sides of the triangle ABC. ( Scale factor g ).

(OR) (16b60g1)

%) Osnpaari’L piGsnamid ABCUI&® /B=90", BC=30&.8 ommin AB =405
H@th. AD=106l.18 erevimaunmy ACufssr 1By D sienid Lciref] o ereng). AB -Gt
ewwliyerefl E 2@io. D wpmitd £ g @aemds CB g F - -6b Fhfld@Lonm
DE -g Bl (h&. BF -g04 snassas.

b) ABC is a triangle with ZB=90", BC=3cm and AB=4cm. D isa point . 4y,
on AC such that AD =1cm and £ is the mid point of AB. Join D and £ and X
extend DE to meet CB at I Find BF. o

AN
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Model-2

Lorgifl allengsmer 200920020 / Model question paper 2029-3920

Ldsnb angtny - XSTD | M- PALANIAPPAN, Msc, Bk

) - B.T. Assistant (Maths)
&6ul1BL0 - MATHEMATICS = SGHSS., NERKUPPAI, SVG. Dist

(<2i1devid Lommitd Llp / English & Tamil Version)
GTGVLD 2A6MTay 2 15 B ib + 3 Loewf)

Time allowed : 15 mins + 3 hrs

G esTasr 1100
Maximum Marks : 100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
<2ileyer

(1) vmagg elenndaeno sfuns wds uHams D GGG GIGILINT,
sflunidggQanerenayn.  odasiiubae GODUNELIIGT D
ST STGRALILTGTIL D 2 1 eiguins @g,rﬁmﬁ?ésa;a;m.

(2) Bovd  <ncbovgy sy evoufenar Lol (BGLo CTUPBHIVNEDGLD  2i1g5
Camygbaugn@td  LwepGss Geauam(pLo.
Clsirdleh LweTLI(h & 5a L.

Note : This question paper contains four parts.
&ML - @eielennssne meE LigHsmanrd l5TaisTL ).
‘UGS -1/ PART-I
(Lo 1O 1cvs 6T :14) / ( Marks :14)
&Iy = (1) @rudflefleh 2 airen 14 efllewnsaemd @i aflavL weldsayib.

LILBIBGT  UeDTeUSNE,

(2) Csn(hési(heren mrshig wihn odoLsefls Wsard Fiwnen
cilowrewd Coiklsbhig @I (e eleorioeaud Gsids
ST(LPSRLD.

Note : (1) Anwer all the 14 questions 14x1=14

(2) Choose the correct answer from the given four alternatives and write the option
code and the corresponding answer.

I f:A4— Beratig @ @Lmd smi wpmid n(B)="Tereslleb, n(4) g

(a) 7 (b) 49 (©)! d) 14
If /: A— Bis a bijective function and if n(B)=1, then n(4) is equal to
(a) 7 (b) 49 (¢l (d) 14

2. A={1,2,3,4,5}-a\mbg B e16Tn semdd@ 1024 2 payser 2 eiang) e1aofleh B -6b
o e o mILiL|safls cTasesiibeams e &,
(a)3 (b) 2 (c) 4 | (d) 8
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If there are 1024 relations from a scl .'1:{1.2.3.4,5}10 a set B. then the number of
clements in B is

(a) 3 (b) 2 (¢) 4 (d) 8

3. TR a1attm QL rauflenaufast (hds 2 mILIL]

l l " 2 (d) _]_
311 | ;
The next term of the sequence —,—,—,—,=+ I8
16 8 12 18
1 b) - - () -

4. x' +64-g0 (AP QUFHBLONS LOTHD IBGHILGH! 51%amad: ol L Gauatar(hLb?
(a) 4x° (b) 16 (c) 8 (d) —8x°
Which of the following should be added to make x' 464 a perfect square?

(a) 4x° (b)16x° (c) 8x° (d) —8x”
x'+8 S ;

3 —-};_—8 e1681m B gpmy Canemauudlet eflevdaiii’ L bl
X —2x-—

(a)8 (b)2 (c) 4 (d) 1
.': +3
The excluded value of the rational expression -T‘—-T——g is
X —2x-
(a) 8 (b) 2 (c) 4 ' (d) 1

6. @ Crflw LeIILIL% CHrenauuils eueyLIL LD (T
(a) CriGs1(h (b) euL'Ltb (¢) LIJGUGHETLD (d) S1lugeuenarmiitd
Graph of a linear polynomial is a
(a) straight line (b) circle (c) parabola (d) hyperbola

7. @ aulLgdlesr gupd Os1(hCH1(hLd CFhighd s oo @i tb
(a) @oLowith (b) Qb Lysirerd
(c) @prgafied] (d) prrager

#%. A tangent is perpendicular to the radius at the
(a) centre (b) point of contact (c) infinity (d) chord
(@0 5.9.{61)‘@5.56# . h (b) 25 .10 %6IT
(€) 5F.HVESBEIT (d) @eunpleb 61ghaLblsvaney

The area of a triangle formed by the points (=5.0).(0.=5) and (5,0) is
~ (a) 0 sq.units (b) 25 sq.units (¢) 5 sq.units (d) none of these

E.__ (_5’ 0)’ (0,_5) LopmILD ( 5’0) 24BN LJGTT &I H3V 16U AL HLILI(HLD _tpﬁaig;ﬂrméé& UD_'L:ID
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9, 3x—y=4 wpmid x+ y =38 HHw CpiGanhaer obdldheLd L jairaif]

@ (5.3) (b) (2,4) © (3,5) ) (4,4)
The point of intersection of 3x—y =4 and x+ y=8is
@ (5.3) (b)(2,4) (©(3.9) (@ (4.4)

10. 5x=secl Lopmib —5-= tan 0 erafled, x° ~L2—eﬁr oy
X X
]
¢ b) — 3 d) 1
(a) 25 (b) Y () 5 (d)

5 : 1,
If 5x =sec and —=tan@, then x* ——is cqual to
: X -

1
2 b) — v d) 1
() 25 (b) 25 (c) 5 (d)
sin(90—0)sin6  cos(90—6)cos?
11. + =
tan@ cotf
(a) tand (b) 1 () -1 - (d) sind
sin(90—0)sin@ cos(90—0)cosd
4 -
tan @ cotd
(a) tan@ (b) 1 (c) —1 (d) sinf

12. QOLESITLSDS QR LGHWTSd CETessiL 6(h Ll 2.wWirLb LODMILD <H4JLD
et Wp@DBW  h AVGEST LODDID 1 AVGENT HGLD. BDLSSITLSH 2 wiLh
whmtb APl LsssEeT %ﬁm penBU h, SHVGSET LODMILD 1, HVGHET HGLD.
GLoguit hy :h =1:2 e1awfled, r, : 1; -6b7 LOFIILY
(@) 1:3 (b) 1:2 () 2:1 () 3:1
The height and radius of the cone of which the frustum is a part are A units and 7 units

repectively. Height of the frustum is A, units and radius of the smaller base is 7 units. If
h,ih=1:2 then r, i, is

(@)1:3 (b) 1:2 (¢) 2:1 (d) 3:1
13. (&6 UG LS eravasarilel afda
@9 (b) 20 (c) 27 (d)5
The range of first 10 prime numbers is
(@9 (b) 20 (c) 27 (d)5
14. (pgeb 'n' Quich eTe¥sraalat Fyngif]
n(n+l) n n+l
— b) — d
(a) > (b) > (c) 5 d n
The average of first 'n' natural numbers is
n(n+1) n n+1
o Wl b) =
)= ®) 3 (c) y d) n
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16,

17.

19.

20.

. P(Y)=x=5x—14  aretip  LemILILEGaTenaemwL q(x) erehim  LGSYMILILS

LGS~ 11/ PART - 11
(o) G ictsraelr : 24) / ( Marks : 24)
10 eflewrda@md @ elleoL welds. aflan erehr 28 - &L Lo eflen_urafldmayLd
Answer any 10 questions. Question no. 28 is compulsory. i0x2=20

. Retehip 2 pay {(.r,.r)/y:x?+3,.re{0,l,2,3,4,5}} ctawds  Quni(ydatnn (eneng.

Bgei oS ILsd®SULD oFd & admaLLD SciTs.

A relation Ris given by the set {(.\',y);‘y =43, x¢ {0,1,2,3, 4,5}} . Determine its
domain and range.

S(x)=x"~1, g(x)=x-2 wpgud go f(a)=1 eraleva - &0d; FITETIT S,

If f(\) =x’ -] .g(x) =x-2,find a if gof(a): |

QR Faumitiyd Gengoauisy A, B ofuemeu aerenmoTeTn  aflevd@Lo
Blstps Saair, Gogund P(A @evanev) = 0.45, P(AUB)=0.65 erafleh P(B)-god sriessrs.
If 4 and B are mutually exclusive events of a random experiment and P(not 4)=0.45,
P(AUB)=0.65 then find P(B).

x—7

Ganamauwne) eugds > ST@ib efler. Slev g 8ng) erafled q(x)-goéh snetwa.

x4+

Dividing the polynomial p(x)= X’ —5x—14 by another polynomial q(x) yiclds a1
x+2

then find q(x).
J7 =3

A=|-J5 2 | craflen, (—A) -6t hlangdlreh Lommmy Siessilanwsd; siess. |

NI

7 =8
If A=|—/5 2 | then find the transpose of —A4.
B —5

AABC yewg ADEF -4 engQamggmar. Guogyd BC =305, EF = 4Qsif
Lopmid @pdGanemiip ABC-ufletr Lip'ny = 54 Qo8 * ereflet, ADEF w6 Lipieouid;
E16GET%
It AABC is similar to ADEF such that BC =3c¢m, EF =4 cm and area of

AABC = 54 cm®. Find the area of ADEF .

. (sinf,~cos8) Lopmyid (—sinb,cos6) eratm Lyairaflaaman Qavew @b Gy Cam’1gatr

FTLE@AIS SMEWS: GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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%)
ra

24,

26.

27

28.

Find the slope of a line joining the points (Sin(),—cosﬂ) and (—sin 0,::050).

- (19.3) erehip yeiraflenws Snguingd; Glsmare @etpneng) QrmGsnew pHGHTeN

augeleh o aireng). gL @en THL(bSSID FlioydQanewid  45° eTesileh,
@adrflai g oHmILD 2 dHevws e @b CHTL 196 FLOGHTLITL GOL & 1685,

The hill in the form of a right triangle has its foot at (19,3). The inclination of the hill to the
ground is 45°. Find the equation of the hill joining the foot and top.

X+ 6,x+12topmid x -+ 1S eradiisen en GLimd@d QL cuflensudlatr QLS
WIS eLpasT & MmILIL)S6TT 61637160, x ~GT LI IGDLIG: SHT6HTe.

Find x so that x-+6, x+12 and x-+15arc three consecutive terms of a Geometric
progression.

1424344 1= 666 cT63l6v, 1 —6d7 LD,‘J))IJEDLJ& HITGHIT .

If 1424344 n=06606,then find n

. 1033 8 2 wiaperer Garyyrsdlar <ngudadlmig 3018 Geramavaileh Gy 2 6iTern

@ erafuflellmbg CanLjgddlat o ¢Sullst gHmeGCenedmpd: H1635TS5.

Find the angle of elevation of the top of a tower from a point on the ground, which is 30m
away from the foot of a tower of height 10v/3m.

FLo o wikiseenuyei_w @ Gbi oL Ld; dnibLjselesr A6 1 : 3 e16tTm aflElsddled
o giranay. galbysefler o wgd A Falbifer HUTSET eLpGTM) LOLAIG G6TesI6Y,
auenenLIyLiLgeiasr eSS0 H1655T5?

The ratio of the radii of two right ci_cular cones of same height is 1:3. Find the ratio of their
curved surface area when the height of each cone is 3 times the radius of the smaller cone?

Qm llens (Lppdhser p Lopmitb ¢ HEweupedn p=a’b’ LHMID q = a’b 616w 61(LPS
QuigyiLD; a, b GTGHLIGH LIS GTGWI&6T  6Testle, LO.LILIM.LD.(p,q)x B.OLmeu.(p,q) = pq
GIGNF FIfIITIT .

If two positive integers pand ¢ are written as p=a°b’and g=a’b ; a,b are prime
numbers, then verify LCM (p,q)x HCF (p,q)= pq

2405.18x22Qs15x 120518 SAenayeiien Ge1d Oralous angey mw FesiosSedmig)
6Q.8 AL L HeTeyeiTen g GEN(bH6T TSI 2 (HAUTHHEITLD?

Find the number of spherical lead shots, each of diameter 6¢m that can be made from a solid
cuboids of lead having dimensions 24cm x22cmx12¢m

Ligd)- 111/ PART -111
(LoFl Gsevraseir : 50) / ( Marks : 50)
10 aflennd&@md efloL weflés. afleT eratr 42 -&@ SL° L muLons efledL welldhsayLd
Answer any 10 questions. Question no. 42 is compulsory, 10x5=50
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29

concrete patio. Find the area of the patio. (ST
30. Gaebsiv Capmdamg e1pd) BlemL9. i i

3L

’ ' . . ' i . ' » 3 ' ¥ 1 111
- WS ang e haged @enddledr snahidlf o cirapmmrorienigy L ghleb St igu[ereniilg
DADLDGSGLIN - (heiT 6N cTeofleb, 26 LPHMBEIGHT LTt IL) Si168615.
In the figure, the quadrilateral swimming pool shown is surrounded by

State and prove Thales theorem. 4
ji('\.):x‘_“\ g(}()= .\'1, [’(-\‘):33&"5, ﬂ@ﬂgb "{rl i oag ‘e s

(fog)oh= fo(goh) crend s (.

It f{x)=x—4, g(x)=x", h(x)=3x=5 then show that (/og)oh= fo(gah).

32. (i) 67+x=1(mod4) erebrLigd@ Quinmbsdaniq s GDBSULF LB X -god LGS,

(i) Sidas Sx=4(mod6).
(i) Find the least positive value of x such that 67+ x=1(mod4)

(ii) Solve 5x = 4(mod6)

33. @y Clemailueirar afbsens@ | et 49aey Cariidflunssd ssalevdsld

auphisl (berengl.  Cpdledlsr ol  paienans  oerer  aihsefle
&SeeVS&EIEeIe ' (hdOBT®HLNGG CFbHells gDl Ded1esIs 15 2 6iTen
afhsailstr sgallevsshisailes ol (b&CSTMSH@GF Fotb 615560 5F hdelsH il (hd
S5V B MBS ST6TTS.

The houses of a street are numbered from | to 49 . Senthil's house is numbered such that the

sum of numbers of the houses prior to Senthil’s house is equal to the sum of numbers of the
houses following Senthil’s house. Find Senthil’s house number.

34. Q@ BIGWILD (PGS (LpedD FHEHTL LIIBEDG). Filwns e smevser SHsLavg)

- SODBSULFLD Q@ LY Sievavg AH(bss(bds @rani(h semavser B LI BN HT68
BlH1ppHameud S1685 5,
A coin is tossed thrice. Find the probability of getting exactly two heads or atleast one tail or
two consecutive heads.

35. Quatn(hy mEhiseaT A whmid B-uler @efli sievsdHed Bevaytd Geuliubaney

2AaMay 56T 6L OF1(hdsL i (heTeney.
mILD A-6t1 Qautiiflaney (g Hif) QFsvdlwstv) | 18 120]2272426 ‘

BaEILD B-6i1 QeutiBlavev (19 £ifl Qarebfwerv) | |1 | 1415117 ‘ I8

sTh  B&HLONS  Geulifleney  wipn(hsells idsner Do, $33GHLD
G e gy?
The temperature of two cities A and B in a winter season are given below.

' Temperature of city A (in degree Celsius) | 18 20 22 24 20

l"TcmpemlurcofcityB(indcgrcc(fclsius) 1L 418 17 1R

Find which city is more consistent in temperature changes”?

104
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36.

37.

38. 4

39,

40.

41.

A={xeW/x<2}. B={xe N/1<x <4} wimnp C={3,5} creafleb
AX(BUC)=(AxB)U(AXC) s1adiisngd sifliiid.

Let A= {.1' EW/x< 2} g B= {.1' eN/I<x< 4} and C= {3,5} . Verify that
AX(BUC)=(AxB)U(AxC).

BNSS, HHds aunenil abuw eparfladt gnnaf anugl 53 A@Lb. snggnaissr auwdled
Lnd), hevsudet auubled epsinflah an Libig wnmid eunesudest U6 [BTaTdleh
(M LI HFaDIedt dn(hHhat) 63 LD, (H16D1 246801 (HHEHHG LPSHT F1B166HT
g umenilufer auuaslt BLrish g1y, LoLhiE, ereilled epaufles SDHGLITEDSW
UG HTGEITH?

Vani, her father and her grand father have an average age of 53."One half of her grand

father’s age plus one-third of her father's age plus one-fourth of Vani’s age is 65. Four years
ago if vani’s grandfather was four times as old as vani then how old are they all now?

cosé 0 sinf/ 0 5 g g : ;
= ; B= o atalley AP+ BT =1 e16ud S (h.
0 cosf 0 sin0
cosf 0 | sinf) 0] L
If A= . B=| then show that A=+ B~ =1.
| 0 cos (}J L0 sinfl

5 el L GanemliLgd augalsy 2 576N o Geunsd SHL 196 A4TLD 21 Q.8 LDHMILD
owsHBsnemn 216 HHin. 'l GanewlugHuier ghismen  @aensgl
2 (HUMESLILIHLD & LDLIGHT HE8T HGN GG, BIGTS.

A metallic sheet in the form of a sector of a circle of radius 21cm has central angle of 216°.
The sector is made into a cone by bringing the bounding radii together. Find the volume of
the cone formed.

@F @ng ubddr GopLnio guipliedr @evLdsedL  eugellayb, SLpiymib
075G MeN ULYNVILL 2 GG H). DL HHWTL HHeT AL LBIFET 5 Qs LOHMILD
2 Qa8 Hs@d. @naLbd ' Gwips 2wnb 7 Qs.b 4 HGYLD @@&@mnmnm
Q@ L1 ubFett LDOIITLISHUS, 515331 5.

A shuttle cock used for playing badminton has the shape of a frustum of a cone is mounted
on a hemisphere. The diameters of the frustum are Sem and 2em . The height of the entire

shuttle cock is 7em . Find its external surface arca.

Aaveownes Ffled 18D/ wand Gausddey Qaevayd @ @uib$lyl LLsnewg 24 &b
Fipdms Bfldr Hwsuiss sLHsh GHISDS o Bl a1diHavgulled HL &S
Fn(hHaVTds | LoGRIGHILL BpmauliihEnsl. bilsn Gousld 16T

A Motor Boat whose speed is I8kmhrin still water takes 1 hour more to go to 24km
upstream than to return downstream to the same spot. Find the speed of the stream.
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—— L i .-‘ J_ g

. . . . . .} r 1 J ’ILb
. Hpndludshr 2w 1.2 @i, 88.216 2. wigddled Hlevi Lol 1ons anppled BH

Lgurevay iaran gl Bamaunmy Lniddner. g Ljareflufish LI aaflabr
srmaGareniid 60" . Sl GmidBeb top@prey Lysirauiich Ligprasilssr 67 HHGSH16TILD
30 2454 GoOnEng). g o Qauaflufleh Ligvretr SL bk HITSHMD SH1GE0T .

A 1.2mtall girl spots a balloon moving with the wind in a horizontal linc at a height of
88.2m from the ground. The angle of clevation of the balloon from the eyes of the girl at an

instant is 60 . After some time the angle of clevation reduces to 30°. Find the distance
travelled by the balloon during the interval,

L@d- 1V / PART -1V
(Lol R sadoraseir < 16) / ( Marks :16)
SLpI:H1em) LD v Tds@rndi@ il werfld:saL.
Answer the following. 2x8=16
43.91) y =" =5y —6-ulled1 QueILILLD eueihgl, gmalll uweaiL(hdd) x*—5x—14=0
TG FLOGLITL L ST dhaH@LD.
a) Draw the graph of y = x* —5x—6and hence solve x* —5x—14=0.
(OR) (=160avgy)
) 16x" = 24x" +(a—1)x* +(b+1)x-+49 6168148 (1 LY QUTGSHLD 6T636) @  LOHDULD
b aFweunmledt Lo iysemend; H1ets.
b) Find the values of @ and & if 16x" —24x’ —|-(aa—1)_1r2 +(b+1)x+49 is a perfect square.
44.21) 4Qsa8  gUpeTenr  QULLD kgl g6t alowdEHOmhg  110s.8
Csneevallayerar e  LaTaflemwd @GHldg Aliyarailledlmhg L LSSNG
@uessi(h Cai1(hCs1(h&6iT U,

a) Take a point which is Ilcmaway from the centre of a circle of radius 4cmand draw
two tangents to the circle from that point.

(OR) (=16b6v4y/)
<) ULSH6) LQP_R =90, PS Hyeng LP -@r @maoblaui’sg.
Guogid ST L PR e1esfleb ST x(PQ+ PR)= PQX PR erew fmiays.
b) In figure I_Qﬂ: 90", PS is its bisector. If ST L PR prove that
ST x(PQ+PR)= POx PR

M. PALANIAPPAN, M.5c. B.Ed..
B.T. Assistant (Maths) .
SGHSS., NERKUPPAL SVG. Dist
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Model-3
Longlifl aflesngsmeir 20242024/ Model question paper D420
LSSTLD eu@liLy - X STD
el gD - MATHEMATICS
(yiFleuid opmyd HLAlip / English & Tamil Version)

&Metd 1anay - 15 Hblto + 3 woewd] L, ol PuessTgen 1100
;F_i111|? allowed : 13 mins + 3 hrs - Maximum Marks :100

Instructions : (1) Check the question paper {or fairness of printing. If there is any lack ol fairness,
inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
2Anlayeny : (1) SAdadg alenndsennd sflung sdals uband) 2 eTeTHm cTeILIMmS
Ffluniégsoanerenad. dastiubailed  @onuimLnist S
sa¥sanesiLTenilitb 2. engung Ggflalldsaib.
(2) fovd webavgy Ly eouienas (O GTLPHISDGD 2iLgd:
Cany(heusH@d LwetL(hds Gaueem(hld. LLKISET  cuUadIaISN&
OetT&leL LwuesTLI(h S SHaLb.
M. PALANIAPPAN, M.Sc. B.Ed.
1 B.T. Assistant (Maths)
@D : QeSS SI6T FTa S, L Henend O\ T6aL g). ll SGHSS., NERKUPPAI, SVG. Dist
L& -1/ PART-I

(Lo 16 a8 &6 = 14) / ( Marks :14)

Note : This question paper contains four parts.

@iy : (1) @Cn9fafleh 2 cirer 14 clileandsEnmd@Ld aflewL werfldsEaLb.
(2) Can(hsasi’ (herenr mietI@ onpm L sefley Osayd  Fiflwnes
dareows Caxinbla(hds @GMWIL(bLeyr efleLuienauyd  GCxids
GT(LPS@LD.
Note : ([_) Anwer all the 14 questions 14x1=14

(2) Choose the correct answer from the given four alternatives and write the option
code and the corresponding answer.

I. A={a,b,p}.B= {2,3}.C= {p.q,r,s} eraafled n[(AUC)x B]e?_a,smg,j

(a) 8 (b) 20 (c) 12 (d) 16
A={a,b,p},B={2,3}.C={p,q,r,s} then n|(4UC)x B|is
(a)8 (b) 20 (c) 12 (d) 16

2. f(x)=(-1) eratrigy N-alphgy L@ eemupissiin (Gerang), eefle f -6
IFFHLD
@ {1} (b) N © {L,—-1} (d) Z
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Given f(l‘)z(-l)"'is a function from N 10 Z. Then the range of /s

(@ {1} (h) N {11} (d) Z
3. L15+23+33+---+153)-(1+2+3-+---.+15}-u?;arme!:u:_,
(a) 14400 (b) 14200 (c) 14280 (d) 14520
Thevalueot'(l3+23+33+—--+I53)~[H—2+3+---+I5)is
(a) 14400 (b) 14200 " (c) 14280 (d) 14520
4. 24446442k =90, raaflleb k -4 Lokt )
(a) 8 (b)9 (¢) 10 (d) 11
IF 24446442k =90, then the value of 4 is
(a) 8 (b)9 (¢) 10 (d) 11

5. 8y =4x+21 eratim GppidGani’ 1gahr GLOGHILITL 1] ) e 4, SLpaassr eupnleh 618/ 2 GHTanLn?

(@) #miey 0-5 pmibd vy - Qau’ (hgen(s 2.6

(b) emiey 5 Hmid » - Qeu’ Gsatm( 1.0

(c) enmdiay O-SIw@Qub v - Qeur (hdgyasa(h 1.6

(d) emiey 5 wHmid y - Qe BégieEa( 2.6

‘ A straight line has equation 81 = 4x+21. Which of the following is true?

(a) The slopeis 0-5 and the y - intercept is 2.6

(b) The slope is 5 and the ) - intercept is 1.6

(¢) The slopeis 0-5 and the y - intercept is 1.6

(d) The slope is 5 and the y - intercept is 2.6

6. 6x'y,9x°yz,12x°y*z afweudmest 1L6.6Lim.o

(a)36xy°2 (b) 36x%y*z (¢) 36x*y*2* (d) 3%y
GCD of 6x’y,9x%yz,12x*y*z is
(a) 36xy*z* (b) 36x*y*z (c) 36x*y*2? (d) 3%y
7. AABC -6, DE || BC,AB=3.6cm. AC = 2.4 Q10 odmyd AD = 210515, c165160 AE 6t
hertb
(a) 1.4058 (b)1.80mE ©O)1.20n0f (d) 1.050s8

In AABC,DE| BC, AB=3.6cm, AC =24cm. AD=2.1cm, then the length of AE is
(a) 1.4cm (b) 1.8¢cm (¢) 1.2¢cm (d) 1.05¢m

8. (12,3),(4,a) 16t Lysirafaanan @eanem @i GHL196h Fiiay %m@ﬂsﬁ. a6t oIy
(2 | (b) 4 (c) -3 (d) 2

The slope of the line joining (12,3).(4,a) is % the valuc of a is

(a) I (b) 4 <€) =5 (d)2
_ 108
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9.

11.

12.

13.

14.

12.1)-a0 Qaur’ (BLo Lyairafluinsd Qunciwr. @ CmidGsnhae

@ x—y—3=0: Ix—y=7=0 (B) x+p=313x+y=1

(€) Ax+y=3:x+v=7 (d) x+3y—=3=03 x—V -7=0
(Z,I)is the point of intersection of two lines

(a) x—p—3=0; Ix—y—T7=0 (b) x+y=3: Ix+y=7

(¢) Ax+y=3ix+yv=7 (d) x+3y—-3=0: x—yv—7=0

tan Bcosec™ —tan 0 = 68T Lo

(a)sccl (b)cot™ (c) sin® (d) cotd
tan feosec’? — tan ) is cqual to
(aysecl/ (b)cot™ 0 (c) sinf (d) cotf

M 2ADNHCSTMSSaH Quondals LITLIL] g6 ATddleimL QT G 5,25 G
6T 556N LOL MhIFHTEGHLD?

(a) ™ (b) 47 (c) 3« (d) 27
The total surface arca of a hemisphere is how much times the square of its radius?

() ™ (b) 47 (c) 3w (d) 27
361 Qs B HeNa GIHTEEITL (D Garend et S4LD,
(2) 3Q#18 (b)20xE . (c)5@sL8 (d) 10Q&:8
If the volume of sphere is 36rem’ , then its radius is equal to
(a) 3cm (b) 2cm (c) Scm (d) 10cm
88,88 ...8 AEW F1edet afF
()0 (b) 1 (c)8 (d)3
The range of the data 8,8.8,8 ....8 is
(00 (b) ] (c)8 (d)3

oyl GT(LpHEISENEOIBES QF Gpdg  FLOQUMUILILY wpepuied  Gzrie)
Qe EDG. b aupdsl X% (LS T(pSSIFaly  RETMTE
B LILSDHTE BIHLPSFR] _
12 ] 23 3
2 by 23 3

®) 73 ©) 2% @ 3

a E—

® 3

If 4 letter is chosen at random from the english alphabets, then the probability that the let
chosen precedes ¥

I 23 3
2 = dy —
(b) ) > (d)

12
@3 26
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L@~ 11/ PART -1
(L GLictsraseir < 24) / ( Marks : 24)
10 eflewdias@ndi@ afenLwelds. ol cTets 28 -6i@ BLLMULDTES afleoLwefld:saib
Answer any 10 questions. Question no. 28 is compulsory. 10x2=20
15. f:N— Netahp snjuneig f(x)=3x+2,xeNerew auenguimidaiiibEmsg! 616311,
29 LoMMILD 53 ~GBT (LPGHT D_(Ih&HEHGNT s HITGEIT S,
Let fbe a function f:N — Ndefined by [ (x) =3x+2,xe N. Find the pre-images of
2904,
16. TX5X3IX2+3 GIGHLIG G(Ih LI c1atramin? o oo aflent e Fimulnibdgie.
Is 7%5%3%2+3,acomposilte number? Justify your answer.
7. 3+k,18—k,5k +1 eradiiemal (i dnt GO anflensulich 2 cirere 16160 k ~GBT
10 ILY SITGYIT e,
If 3+ k,18—k,5k +1 arc in A.P, then find £. |
18. ' +2° 43 4+ 4k’ =16900, 61a5fleh, 1 42+ 3+ -+ + k -65T LG 1L HTGEsT .
If ' +2°+3' 4.4k =16900, then find 14243 +4---+k

7 8§ 6 4 11 -3
19. A=|1 3 9|,B=|-1 2 4| &l 24+ B -ulenasd sneiss.
el ) o 7 5 0
| 7 8 6 4 1 =3
 IfA=|1 3 9|,B=|-1 2 4 |,thenfind 24+ B
' 4. 3 -1 7 5 0

20. QLoiCWIGHTEMaT eLpaUhISETISS Glemer 3x” +kx+81=0676TD FLOGTLITL 1QEHT 6(7h
eLpGULD LODGYDIT(H eLPGUSENGHT quIidsiLh 1aufleb, k ~udedt o1y snetis.
If one root of the equation 3x” +kx+81=0 (having real roots) is the square of the other,

then find &.

31, g9 a4 LoHMILD y = _{zjﬂ 6T63fl6h, x°y 7 68T Lo IL) HTcEI .
3a° -3 2a° —2a—4
2 2 - ) )
If x= # 38— 4 y= a—&—g-, find the value of x“y™=.
a*—3 2a°* —2a—4

22. Qun(psstin’Gerenr LLsFD AD  eretrug |BAC- @@Fwo Geuliquingid.
AB=10Qs8 = AC=14Gs8 | nppypy BC=0008 gafigy BD opmiud DC -goé

BT80S,
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10th Std SSLC Model Q.P (TM) Meenakshi Offset Printers

In the above figure AD is the biscctor of [BAC. il AB=10cm, AC =14cem and BC =6cm
find BDand DC.

23, aniliay 1-gd Qanair. GpidGa 19 Fr'ieyd GHrewsiLd 61656817
What is the inclination of a line whose slope is 17

24. 2018 2 wigepeiren S 1L GH6T 2SI (1 afamanwnl (b efrir oibs) Qxres(h

squiled 2.6iren G Lh®B. 60° @néadGanamigdley snamdnir c1631)6L HLLGL

19 LGS S@ 0 LD Gant Guiuyeiren OB TGV HTGIT S (/3 =1.732).
ves the angle of depression of a

A player sitting on the top of a tower of height 20 m, obscr
all

ball lying on the ground as 60°. Find the distance between the foot of the tower and the b
(V3 =1.732).

25. sofloetsr Qenetn(® Qeinutin’  24QF.L8 2 wiepsen G bl (b GLOH®S
B ATAPSTAT (I 2-(HESTULITE LOTDDIEIDSI aTa8fl6h 2_(meenuilat! 2 wiLb 61637617

A cone of height 24 cm is made up of modclling clay. A child reshapes it in the form of a
cylinder of same radius as cone. Find the height of the cylinder.

26. ( FUMILILE Gensmanis o Hapss) s Qg P(4): P(4)=17:15
LommILd n(S) = 640 GTGutl6 P(H) -8 SI1680T .
If 4 is an event of a random experiment such that P(A):P(g) —17:15 and n(S)= 640then

find P(A)
27. Lyairef efleugriiselar gnefuneigy 25.6 LoHMILD 2gatt Lonmiutl(hs C&Lpaures
R0 ) m C (=7

18.75 e1aflal), 2156 S L NVE:BIHMSS HT6HTH.
The mean of a data is 25.6 and its coefficient of variation is 18.75. Find the standard

deviation.
28 3x—5y+7=0 oHmUD 15x+9y+4=0 A CridGa1(h&eT s mISH6IETGH D

Qi@ s 61681 6l0Iy .
Show that the straight lines 3x—5y+7=0and 15x+9y+4=0 arc perpendicular.
u@$)- 111/ PART - 111

(o) @ietsrseir : 50) / ( Marks :50)

10 e dasernd el warllds. alleoT GTeHT 42 -&@ SLLMULOTS aflenLwefldsayd

Answer any 10 questions. Question no. 42 is compulsory. 10x5=50

29. A={1,2,3,4} wpmyio B=1{2,5,8,11,14} er6b1i6m @1p Hew1 5156 616515, £ A—> B
eraquin gy f(x)=3x—1 eremd Qb siiic (herenl. @éani e

(i) <bLd@n] LULLD (i) 21 L uenemi

(iii) oufleng Gy &aifladr HewuLD (iv) euadTUL LD HFweummieh @nlds.
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30.

31.

32,

33.

as:

36.

\
N

Let A= {1.2.3.4} and B= {2.5.3.1 I.l4} be two sets. et £: A —> Bbca function g1t ¢n by

f(\) =3x—1. Represent this function
(i) by arrow diagram (i1) in a table form
(ii1) as a sct of ordered pairs (iv) in a graphical form

LefuSiiny eflesaudsh snnemions 1aflenmgsefleh e(m CLT(bET FL_HEHLD BTN
s(t)= % o far+bh arend Qanasii (bereng (gAemz Lol S

sngeILons gHUGL wpBsongh). B o.bAHwma LIDaIEST. s(r)yueml

G NSO\ STGIDITE FTFLINEGLOT GTGS YT TS,

An object travels under the influence of gravity in time fscconds is given hy

1 hl . . . It 4
s(r):—qr' +af+h. where ( gis the aceeleration due to gravity). a.h arc the constants.
’) L i)

Check if the function § (I!)is onc-onc.

A={xe Wio<x<5}.B={xelW 10 x<2}.C={xel ) x <3} sraviled
AX(BNC)=(AxB)N(AXC) g4 aflnida.

Let A={xeW/0<x<5}.B={xeW /0<x<2}.C={xel/x<3} then verify that
AX(BNC)=(AxB)N(AxXC).

3+6+12+4---41536 er6itm QLihd:&HD OBTL 6 Fn(hH6D HT6ETH.

Find the sum of the gcometric scrics 3+ 6+124+--4+1536.

0 %6b QUEGLI(HLD DS eLP&T eV 5 BUed 6T6ssTSHaMET gn(hH6L HTE3TS.
Find the sum of all 3 digit natural numbers which are divisible by 9

= e —2-95+ 13 .. + gl 61651 GENEQUUNGST QUITSHHLPGILD FHTGEITH.
y y X X ;
Find the square root of the cxpression . + @-4— 13- 30y s 5 9;
¥ Ao x o
QuissLs LTS (pemudey el '

=3x+2 aTehIm FLOGTLIMTL 965 $76Y ST,

Sx+7

Solve the quadratic cquation by completing the square method = x+2
xX—
I @
5 2 9 4 r i i 3
A= % % ,B=1 2 |eaflh. (AB) =B A" eistiusng gfluniyhsab
5 =1 :
1 i :
5 2 8 . b el
HA:l 28,::1 2 | verily that (4B) =B’ A

=
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37. @ CgriGsnemy pdCunes &ds5 5 IsNILL. S Lidhnhh S @ 1oL hIHS ol Gifl T
AHFD. GLOGID PSIBTIH LSHOTIG  HIINHG L 280 @omey il
Wp&HBHME GG LidhFHIFHMGN 5 1635,

The hypotenuse of a right triangle is 6 m more than twice of the shortest side. If the third side
is 2m less than the hypotenuse. find the sides of the triangle.

38, Tx—3y=—120Hmid 2y=x+3 2w CuiGarHer Fhblagin LjeTerflanuiuit
3x4y+2=0 wHMID x—2y—4 =028 CriGH1(HoT FhdlH@LD LyerefleniiL/Lb
Dwand@o CriGCHTL Q6N FLOS IITL N &) HTGE .

Find the equation of a straight line joining the point of intersection of 3x+y+2=10 and
x—2y—4=0 to the point of intersection of 7x—=3y = —12and 2y = x+ 3.

Jtand —tan' 0
I -3tan’ 0
3tanf) —tan " )
| —3tan’ ()

39. J3sinf—cosf =0 e16afleb. tan 30 = 61681 [BlemLT .

If \Esinﬁ —cosfl = 0. then show that 1an 31 =

40. Hdgneand Cane(y 16 2ynaptd 2416 2.wEpth D ®Lw () FalbL] QILY6I I LMIJLE
o maunss LB ENS. OFaious aug ey 55516061 i%6LD 4 L5 6Ta5fleh 68T BENLD &163515.
The radius of a conical tent is 7 and the height is 24 . Calculate the length of the canvas
used to make the tent. If the width of the rectangular canvas is 4m.

41. 52 L (aer QsnadaL £L(hssL el mhd e FL(h a1(hdsLiibSesing). Sibs 1L (5 oan
26hevg DTl evevgy Flauli) Bng &1L s BLILSHHIE BlHLpSHMaIL HTGHITS.

A card is drawn from a pack of 52 cards. Find the probability of getting a king or a heart or a
red card.

42. 18,20,15,12,25 fwaupmlest ommiuint’ (b4 Q\sLpsneud: S168us%.

Find the co-efficient of variation of the data 18,20.15.12.25.

U@éﬂ— IV/PART -1V
(LB OcdaaeiT : 16) / ( Marks :16)
E1psangmiLb aflen s efleL wafldsajLb.
Answer the following. 2x8=16
43.91) y=2x"—3x—5-65 QUEILILLD QUENIh& HBDGILI LWGTLUBSGSE 2x* —4x—6=0
TGS FLOGTLITL DL SHTHFAYLD. |
a) Draw the graph of y = 2x*—3x -5 and hence solve 2x* —4x—-6=0.
(OR) (=46bevg))

| 2 4
+ —
x+1 x+2 x+4

FLOGKTLITL 1965 g Blidasts LwaTL(bsH)s Sids. |

%)

X+ 120,04 270 DHmib v+ 470 -2 BpLigd
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i 2 - 4 ,where x4+1=0,x+2=0 and
x+1 x+2 x+4

x¥+4 =0 using quadratic formula.

44.9) PQ =8 Q#1b, [R=60", 2.44) ReSmbgy PO 4@ auevuiiLl L (5% Gamiigair Semd
RG = 5.8 Ql#i5 e1e @pd@onm APQR auis. ReSmig PO @& eeogwiliilL
GSSIHCSHTL 19657 Benth Hrevsras.

b) Solve the equation

a) Construct a APQRin which PQ—8cm, [R=60"and the median RG from Rto PQis
5.8cm. Find the length of the altitude from Rto PQ.

(OR) (1606v5/)
%) Gsnew @peLoblaur’y GHpméHer LomisaaveiL eT(Lpd) Flmyays.

b) State and prove converse of angle bisector theorem.

M. PALANIAPPAN, M.Sc. B.Ed.,
B.T. Assistant (Maths)

SGHSS., NERKUPPAI, SVG. Dist
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Model-4
Lond)ifl efleangsmer 202922029 / Model question paper 20892026
LGSTD eugli) - X STD
& 600l 51D - MATHEMATICS
(yiiflevd Lommitd HLltp / English & Tamil Version)

smeuLd ey : 15 Fiflib + 3 woewf] o) Gssraeir 1100
Time allowed : 15 mins + 3 hrs Maximum Marks :100
Instructions : (1) Check the question paper for fairness of printing, If there is any lack of fairness,
inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

sfloyeny : (1) cwadg afanndaeasd Ffluns el Lifleund) 2GS GIGHTLIDS

gflunidgissnererayd.  daludlellss  @opuilpLiien 2NN
setanefiiLneTfLLb 2 L ewguins G%flallésa)Lb.

() oo cbeug Sl eoulear ol (B  TSINSDSLD ENLE

Canypausn@y LWeTL(hSS Ceavetar(hlo. ULMIGET TSI

QListrdley LWGTLI(h SR LD.
Otrd bz | M. PALANIAPPAN, M.Sc. B.Ed.
Note : This question paper contains four parts. B.T. Assistant (Maths)
Gl : @alellenndgner preE LgHsmend OsnaLg.  SGHSS. NERKUPPAL SVG. Dist
u@é} —1/ PART-I

(Lo QuetT e : 14) / ( Marks :14)
@iy : (1) @udflafleh 2 iren 14 afledas@psi@Ld afeoL werflgEa@|Lb.
(2) Qan(pésLuc(herer BI6sIE LOTDDI AL safled lsayb Flwne
AoLows Csitosdss oI (e e uieauytn  GCFids)
GT(LPSALD.
Note : (1) Anwer all the 14 questions 14x1=14

(2) Choose the correct answer from the given four alternatives and write the option
code and the corresponding answer.

1. R:{(x,xz)fx 25 13g2 afl LG @enmeunar UST mw&r&efr} GTGHID Q_Q)cn%iﬂr Gﬁa'faf&mmg,]

(@) {2,3,5,7} (©) {2,3,5,7,11}

(©) {4,9,25,49,121} @ {1,4,9,25,49,121}

The range of the relation R = {(x,xz)/ x is a prime number lessthan 13} is
@) {2,3,5,7} (b) {2,3,5,7,11}

(©) {4,9,25,49,121} @ {1,4,9,25,49,121}

2. 4={1,2,3,4} wopd B= {4,8,9,10} em6hs.  f:A— B Al &Ly
f= {(1,4),(2,8),(3,9),(4,10)} 6Tend Q&1 (hSSLIILLTeD

115

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377



https://www.padasalai.net
https://www.padasalai.net/
ADMIN
Typewriter
20242024

ADMIN
Typewriter
20242024

ADMIN
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377


0.

() LisveumnfleSlnhay qadtmyidsnes sy (b) g1oasfld &Ly
(¢) shima6lmnadimasy iy (d) 2L &nry
Let A ={1.2,3.4} and B — {4.8.9.10}. A function /A — B given by
_/’={(1.4),(3.‘4).(19),(4.I(J)} is 0, an

(a) many —one function (b) identity function
(¢) one — one function (d) into function

0 SLlbSOSTLT auflnauisr 6 augy 2 mitiufer 6 L@ 7 ug 2 miliesr 7

LOL aILD FL0LD 6T6016b. S1dhdn L (b 50BL 1T auflansuflasr 13 augy 2 mytiy

(a) 0 (b) 6 (¢)7 (d) 13
I£6 times of 6" term of an AP is equal 1o 7 times the 7" term, then the 13" term of an A.P is
(a) 0 (b) 6 ()7 (d) 13
<1729 —g@ wand snnsnilinaodsinn Gungl, iy, Lt eiessigerilesr i(bd@setles
&n (hhe
(a) | (b)2 ()3 (d) 4
The sum of the exponents of the prime factors in the prime factorization of 1729 is
(a) 1 (b)2 (¢)3 (d)4

- a HpID b e1a81UE Qb WS (LpphHeT. B hig a>0.beI6dILS) a - 6T @ STyes]

sTauileh a Lommitd b pFweunilasr 1566l
(a) b (b) « (¢) 3ub (d) %
]

If @ and b are two positive integers where ¢ >0 and b is a factor of «, then HCF of a and
his

(a) b (b) « () 3ub (d) ;—’

X =2x =24 1opmLd v — kv — 6 HFweupmlast LBGUM.a (x —6)6Talleb, k -6 Loy
(a)3 (b) 5 ()6 (d) 8

If (x—6) is the HCF of x* —2x—24 and x* —kx—6 then the value of & is

(a)3 (b) 5 (c) 6 (d) 8

. Q@ LORMILILE CHTQUINTENH] (LPLLUTHSLD GTafled UgeHT HTessisei

sTevuTessigemauileh @b Gmio

(a) @HEnmLILIL (b) Ly &utd

If a polynomial is a pertect square then its fuctors will be repeated ___ number of times
(a) odd (b) zero (¢) even (d) none of the above
(c) @’ e L (d) Lo Blweuniiley e1g/ayd @evemev

Bl #Louds 1psGaremid ABC -60 2C =90 opmuib AC = 560515, eTexfleh AB yemay

(a) 2.5 QFLL (b) 5 Gl () 10 Q#if (d) 52 Q&b

i |
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B 10 AABC is an isosceles triangle with ZC =90 and AC = Scm, then AB is
() 2.3 em (b) 5 em (¢) 10 em (d) 5¥2 cm
Q. QUh BIDSILLADIG] ([ FHaUBLONS ALl CHEaNLIel L emen
() @ Ldshinar Gmaev
(b) @ Ldsiimen et LoHm @ LiddihineT BenasiHneEe
(¢) sTHCTDT L hiaeir @aneur
(d) ARG LidhFihiHEHLD TLOLD
When proving that a quadrilateral is a trapezium it is necessary 10 show
(a) Two side are parallel
(b) Two sides are parallel and other two sides are non- parallel
(¢) opposite sides are parallel
(d) all sides are of equal length
10. Tx=3y+4=0 sshtn On7&Gsnyng Comigdsns udliyenet] auflsolaevaid
3BTHBHML 1987 FLosiun(h
(@) 7x=3y+4=0 (b) 3x=7y+4=0
(¢) 3x+7y=0 (d) 7x=3y=0

The cquation of a line passing through the origin and perpendicular to the line
CIx=3y+4=01s

(@) Tx=3y+4=0 (b) 3x=7y+4=0
(c) 3x+7y=0 (d) 7x=3y=0
I1. sinfd = cosf)_sTamsb 2tan®8 +sin®6 —1 @sbr Loy

3 3 2 2
(a) _E (b) E (c) :‘ (d) —E
If sinfl =cosfl then 2tan*# +sin®  —1is equal to

3 3 2 2
a) —— b) = £ = d)—=
L () 2 © 3 (d) .

12. (M DGTSTL DD 2 (HMEIIULIFI Qevaflliym Lehmith 2L Lm kisefest Fa(hgeb eTenfley
14 QLB LoHmILD et BLgLoahT 4 CFLE Hbid. o (heemuilesT 2 wigth 2000FL5 eTerfley
SIHEEN D_(HUTHSLI LWL L GUIT(herile £51A6Na)

(a) 5600 QgL (b) 112007Q&8”  (¢) 56 7@’ (d) 3600 Q&8
In a hollow cvlinder. the sum of the external and internal radii is 14 cm and the width is 4
em. If its height is 20cm. the volume of the material in it is

(a) 5600 7 cm®, (b) 112007 em®  (c) 56 = en? (d) 36007 em’
13, Q&H@&‘;:EEQI_KJI‘J,I_"L IUSHETE) G145/ HUDTGNH)?
(a) P(A)>1 | (b) 0< P(A)<1  (c) P(d)=0 (d) P(A)+P(4)=1
Which of the following is incorrect?
(@) P(A)>] (b) 0 P(A)ST (©) P(g)=0 (d) P(A)+P(d)=1
117
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14, G(1h [BIGwILIGENS (PG (LPEOD i GBI (HLD Cangaasiufleh 3 HMeUEGT 26V6VG 3 Lydhell

SanL s BlHLpSH 5|

I I 3 I
a) - (b) — c) = (d) —
() S ) 2 (c) 3 >
Probability of getting 3 heads or 3 tails in tossing a coin 3 times is

l | 3 |
a) — b) — = dj —
(@) 2 (b) 2 (c) 3 (d) 5

L@~ 11/ PART - 11
(LoFICIGIIcdsT 6T : 24) / ( Marks : 24)

10 afleuTé&@hs@ allenL warlda. aflew erater 28 -dig s Lmuions e weldsaji

Answer any 10 questions. Question no. 28 is compulsory. 10x2=20

15. fo f(k)=5 wpmub /' (k)= 2k —e1afled, k -goderricvora.

Find & if /o f(k)=5 where f(k)=2k—1.

16. A={1.2.3.--,100} wodmid R e161p 2.y " A-6tr LBg @ eTeimeniley Hewh  eTewW
UDMUMISHLIIL L 16V, R-G&HM160 LB ILISSIUID 654 FSH5HEBUILD HTGETS.

Let 1= {1.2.3,---.100} and R be the relation defined as ™ is cube of ™ on A. Find the domain
and range of R.

17. @ Slonwunifs s anflanauiled 20 maamasenid GLongsid 30 euflengs@nLd
2 arana. 2ibhsshdd aldaun(y eufleFuiigud D@ Whmsw euflmsamuw el
Qrawy Bupddaaa  gm(bgers 2.6reans. LS cuflFuled TS SEGHT
B (mS»H56T B SHD0?

In a theatre. there are 20 scats in the front row and 30 rows were allotted. Each successive

row contains two additional seats than its front row. How many seats are there in the last
row?

18. 7.3 1,2, 61681D ClLIbSGS CSTLIT euflenFullasr 100ug) 2 MILIDUSSHTEETS.
l

InaG.P —.—i,l,*l--- Aind ¢,,.
12

x*+6x+8 i ;
19. % -0\ mikg a1 APgupmi Caneneuand HLhGEmeH —3—— GTGHTD
L48 X" —2x+4

Ga1enat HlL&@Lo?

Which rational expression should be subtracted from \_—1;_61:_-&—8 to get ——3_ .
x +8 X —2x+4
20. ppeviigefleiian(haeh  ommid LSS LpeDGiL —% opmip - -1

TG H0\SNGHTL. @)L & FLOGHTLITL GOL & %1637

e . ; x 3
Determine the quadratic equation, whose sum and product of roots are —= and —1.
; 2

)
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21 VS TRTS0 RADDIQS o1 1A

State Pythagoras theorem
sn: PhmsafOid o ot S B o [ o B o amacetiy, B8 8C .
22 G dsrc et A8, DEN AC b DC|| AP sralaby e -( P oleM  h Diaa,
(

) 4 . b Bt KC
tn the figure DE || AC and DC || AP, Prove that == =

EC P

25 P(=153) Q(60-2)  R(-34) «xdun tyaralaait @ Qi L nandl a1ardaie (ha,

Show that the points 2(—1.5.3). Q(0,-2), R 34) are collinear,

CotAd—cosd  coseed |

ety = —— == e T8N (BT B, M. PALANIAPPAN, M.Sc. B.Ed.
SOATREUBE! - GHEERA B 1. Assistant (Maths)
Prove tlag S —e0sd _ coseed =1 SGHSS. NERKUPPAL SVG. Dist

cot 4 cosA cosead
25, 1o Ydiaa Qanade. @ b by salsd o cvanapaatt 3000 Q' todymith 3040
O LS e1Neb <D 0 wit Araarsd QRE KD B 1N .

g 0 . . 1 - "- A A
The volumes of two cones of saume base radius are 3000 em- and 3040 e, Find - the o
of their heights,

26, @@y 1NN @lda 13,67 whpnd CSCQuNur iy 7008 aralad, 10ad Ml
Lo I TS
The range of a set of data is 13,67 and the largest value is 70,08, Find the  smallest value,
27, (H LTSN 1 (LPH 6 21 1 o131 BET @hyflhant' i L. LihraaNalnhar oy
LIAEISET  GIBCILBDSIN  an IS aiadedur 1o QIILILLD  ptoid G,
(L5(HLb Hptors @Gt ((psvn)

Write the sample space for selecting two balls from balls from a bag containing 6 balls
numbered | to 6 using tree diagram. (with replacement)

28. 837 =25=0 crshim @ ptugd oMt 1gedt peuita@iadt an (hash todmnd Qg

LIGUGST /16U .

Find the sum and product of the roots of equation 8x* 250,

LGS 1L/ PART - 111
(LoHGisdrassir : 50) /( Marks : 50)

10 eflenéa@né @ efeL wallds. e e1adr 42 -4 sLLnunons eflewefldaaub

Answer any 10 questions. Question no. 42 is compulsory. 10 x5 =50
29. ey 2.6iren i Larmauish Gisaaflssi @psdianinmanatlad Bt todund

GG OBrL it ani il DN ha@IGDBEIT  Quphisin (helranaar,  «ifha)
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alauihisaflad g Ui uIeh e LomaRIaUT O WIILD (v) (LPEBIGHIAIEN, fhenin (x) - dii169]
DDA y = ax + b a1 GBS, @i a, b dwear wipledlse.

(Lpaiaibtmsgaisd Henb x | o Wy 'y’ f
(Gs15-6b) (ibigeuHHle0) |
35 56 !
45 . 065 J
50 69.5 |
55 | 74 |

.( D) @b 2 DAUNGIG FATUITGLOT G161 DI 115,

(i) ammo b ASwenHdNG, sretrs

(i) pedrasiusmnaudadt hartd 40 Q.16 616860, iihehl's CLisiaressilehr D wiTdeEnsd: B 168 L.

(i) 2.wmb 53.3 Subigeuid c1avfled, Sihals Qusteniler wpehiaiemsuiias Harrdhe s
ST &b,

The data in the adjacent table depicts the length of a woman’s forchand and he:
corresponding height. Based on this data, a student finds a relationship between the height(y
and the forchand length (x) as v = av+ b, where a, b are constants.

5 Length x of torechand | Height 'y’
| (in cm) | (in inches)
| 35 56
; 43 65
i 50 | 69.5
| 55 | 74

(i)  Check if this relation is a function

(i1) Find @ and b.

(iii) Find the height of a woman whose forehand length is 40 cm.

(iv) Find the length of forehand of a woman if her height is 53.3 inches

30 [:[=5,9]— R e6tim gnjuneugy e monmy aieguwnssiifEns.

) lﬁi‘—i—l —5 S XY <2 srafla

flx)=15x*~1 2<x <6 aafla

|3.t —4 6<vy<9 safa
2/(=2)-1(6)

(D) f(7)- /(1) womud (i) ‘B WIUD DG S 16T,

e

A function /':[—5.9]— E is defined as follows

6x+1 if -5<xk2
SxE-1 if 2
x-4 if 6Lxx9

f(x)=
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2/(=2)-/(6)

S@4)+r(=2)

31. 54554555+ er681m QgL aurflevguladr wpseb n 2 mylijsaflesr gn(bHeb H1688T.
Find the sum to n terms of the series 5+ 5545554+

Find (i) £(7)=/(1) (i)

32. @ Cusssenfles anug saug sGasngfluilen anesls Gumned @ Lo big HELD.
@i anbsend@lnisr @  enugsafldt  Qumdshever 375  ereuleb.
FCangiflaaflss $HGLNMBIL QUGS HT6TSIE.

A girl is twice as old as her sister. Five years hence, the product of their ages ( in years) will
be 375. Find their present ages.,

2x 2 8 35y ey 9
33. x[ v ]+2 5‘]:2" e T

GT68TM el FFLOGILITLLOGY X — 63T LyFFwiLon
3 x 4 4y 10 Ox @ e & Lo

LoF)IGHLIG HTGT 5.

Find the non-zero values of x satistying the matrix equation
2x 2 8 Sx X +8 24

X 42 =2
3 x 4 4x

10 6x)°
34. 4x' —12x" +37x7 + by +a GISHIUG (B (PP VTESLI LOMILILS CEnemay eTeileh.

a LommILD b —aiT LobIDLIS: HT6ETS.
Find the values of ¢ and & if the polynomial 4x* —12x* +37x* + bx +a is a perfect square.

35. onpp e’ L g8 Cannéams eTLps) @g;a;as._

State and prove alternate segment theorem.

36. PORS 616811181 63(1h FMUI FSHILD. AFGH eLpeeailL L iige PR ommid OS Huisnay
Qeu'(htb Lyairerfl M Hsayd OS = 2PR e1aviayld 2. 6reng). S pmitd M Bweunmss
wiiyereflser wpenGw ( 1, 1) womd (2,—1) erefled, P-ir yull Leemseend
SHITGVT .

PQRS is a rhombus. Its diagonals PR and QS intersect at the point M and satisfy OS = 2PR.
If the coordinates of S and Mare ( 1. ) and (2,—1) respectively, find the coordinates of P.

37. @y Qe @@ slLLepd @ Hoeoud afondis FHewsudedr 35
Qe CQavaflufleh emiohgyeenad. s gblesr o SIS mrg Hoev 2 &Huflsh
gDm&Gsnewiid 24 ommib Favev Siguilsst @mess Canewmitd 34° eresfled, Savevuilss
o i eTei@? [tan24 =0.4452, tan 34 =0.6745)

A building and a statue are in opposite side of a street from each other 35 m apart. From a

point on the roof of building the angle of clevation of the top of statue is 24" and the angle
of depression of base of the statue is 34 . Find the height of the statue.

[tan 24° =0.4452, tan34 = 0.6745j

38. 32 QLB 2wpapn 18 OF L. TP 2dLW QF 2 (HOaT G QuTerufst
(PULELOULINTS LOGWIEY 26iTan ). Bbs Loawsh geuileh CBTLL L' (h dnlbL) QL& st
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-

39,

40.

41.

42,

IADSSILGEDS. SHbdd sibletr pwyd 24 Qeif  erafleh, gt b,
FMYWTS®DSHS HT6ITS5.
A cylinderical bucket, 32 ¢m high and with radius of base 18 ¢m, is filled with sand

completely. This bucket is emtied on the ground and a conical heap of sand is formed. If the
height of the conical heap is 24 cm, find the radius and slant height of the heap.

A GbLougdled G L aunggdled o1 Qunetreni i Qaminur Lopmid <47@hs
Lpiuseflsr craienflsaaser £Gip Qan(B st Gerare.

Clsmiwrm LILpEIEelasT
i 3 5 6 4 3 5 4
GTGUITGION DS

ATEHF  LLphIsafle

1 3 7 9 2 6 2
cTeusTentd 0

B 61% LLptb Fyns o L Qsnereniiul L g)?
The consumption of number of guava and orange by a family on a particular week are given
below.

Number of Guavas | 3 5 6 4 3 3 4

Number of oranges | 1 3 s 9 2 6 2

Which fruit is consistently consumed by the family?

50 Loneseu e 2 6irer e a@Lided, 28 G NCC-ufguid 30 Guii NSS - ufaid
Lopmitd 18 Gy NCC ojmiid NSS-ulguit CFFlpmiser.o(m onemeuy 1o aumiiiL
wpeomuiley Coik0\s(hdasLILbEDT. Seurf

()  NCC -6 Gmda, e, NSS-6b @evaurioe) Qmss

(i) NSS—6b @&, Hamed NCC-6b @ebavriioch @\md:s

(iii)  @auppileb gGEeLb eaitmileh Lot (hLb @BLILSDSHTET BBLPSEN SN S ST .
In a class of 50 students, 28 opted for NCC, 30 opted for NSS and 18 opted for NCC and
NSS. One of the students is selected at random. Find the probability that

(1) the selected student opted for NCC but not NSS

(ii) the selected student opted for NSS but not NCC

(iii) the selected student opted for exactly one of them.

gmiciean’s LwetLbss (1,—4),(2,-3) opmub (4,-7) St yeralser e
CFiGsnent (LpdCaTemISEameT 2 (HauTdELD 6T6s Blmieys.

By using slopes, show that the points (1,—4),(2,-3) and (4,—7) form a right angled
triangle.

@@ Buf 10 Aat(hsafled 16,500 @ Grullddpny. eeibamm embd <euf
C#Lilé@Lb CBTanswneg) ASNSG (phasi e, CFuld@b GgnemamwalL 3100
2F)&LD 6163160, SHauT (LpBev et (h eTaleuena) CFLAGH HLILIMTT?

A man saved ¥ 16,500 in ten years. In each year after the first he saved ¥100 more than he
did in the preceding year. How much did he save the first year?
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L@&- 1V / PART -1V
(ol GLadaer : 16) / ( Marks :16)
Sipdsasyih eflewdiaend @ afleL werlldsalLd.

Answer the following.
43.9) y=2x" -G @ueJLLLD auehgl gt LweiL(bgd 2x'—x—6=0. GIGHTD

2x8=16

FLOGTLITL L HIT&aa|LD.
a) Draw the graph of y = 2x* and hence solve 2x* —x—6=0.
(OR) (16b5v5)
a —16 2a* =3a-2 3a —lla—4
-8 2a +9a+4 a’—2a+4
~16 2d°-3a—2 3a’—1la—4
S8 2a+9a+4 o -2a+4
44.3)PQ = 68615, Gued 2 &H5Csmewd 50° wpmid 2 FHSCsNETISSEH
Bmswea gunens) HLisss®me PD = 5.2 Q. 15 e1e1 D —60 Fhdla@GLonm)
SHenou/tb APQOR -g U . a
a) Draw APQOR such that PQ = 6.8cm,vertical angle is 50° and the bisector of the vertical
angle meets the base at D, where PD = 5.2cm.
' (OR) (S16bavg))
%) @y Wpolasnamsdler Canem @Qm FGlyser b Lerefluissr eufluinsd
ClFeLSILD 6TeW S ST (h%.
b) Show that the angle bisector of a triangle are concurrent.

ENEIGEICEE

b) Simplify

M. PALANIAPPAN, M.Sc., B.Ed.
B.T. Assistant (Maths)
SGHSS., NERKUPPAI SVG. Dist
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Nodel-5

Lordf) eflesngsmer 20422120 [ Model question paper 200942020
. . , M. PALANIAPPAN, M.Sc., B.Ed..
LISSTLD QUL - X STD _: B.T. Assistant (Maths)

60T 1B10 - MATHEMATICS | SGHSS., NERKUPPAI, SVG. Dist

(isfleutd opmytb gublp / English & Tamil Version) .

) GLsswser 1100
Maximum Marks :100

FT60LD Henay 1 15 Bl b + 3 Loawf]
Time allowed : 15 mins + 3 hrs
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.,
(2) Use Blue or Black ink to writc and underline and pencil to draw diagrams.

2ifleyenr : (1) Siwadgy alemdsend Ffuns adal Ufand) 2 6TeTHT IGTLING
sflunisgsCsnarenan.  dsliHalles  Gamuipiniesr D
sesranenfiliumenilLLb 2L ey wnd Osfalldgeaib.
(2) hovid ebevgy Sy evouflenast ' (HGL GTUPHIUSDESGLD LGS
Gamy(heusn@ld LweL(hds Cauas(hld. ULAISET eSS,
OlelTFeh LWL SS@LD.
Note : This question paper contains four parts.
GOl : Qe SneT 6@ LGHlsamend: O\EnasL ).
U@S$ -1/ PART-I
(Lo sesar e - 14) / ( Marks :14)
@iy : (1) Bn9flefleh 2 eiren 14 aflendsemd@ib afeaL wellssaLb.
(2) Qan(hasiii’(pener mrerg wiHn ferseils WBsad Fflwnes
oo eows Csiioshss GO GLe loLlmamuyn  Gsibse

6T(LPS@|LD.
Note : (1) Anwer all the 14 questions . 14x1=14
(2) Choose the correct answer. from the given four alternatives and write the option
code and the corresponding answer.

L f(x)=(x+1) =(x-1) GOILIIGLD s g
(a) Gpflw &gy (b) B &60&F FAFTL (¢) HOVELPE FrTijLy (d) Ly sy
f(x)=(x+ 1)3 —(x—1)3 represents a function which is |
(a) lincar (b) cubic (c) reciprocal (d) quédratic
2. ool augssed gmansGsppsmsls LWETLGSE). The. ms Lpepedar
SETSMBULLD LNLIGTLI(hdd) 92460 aUGSH@GLD CLINg) SlanL d@Lb LiFseiT
(a)0,1,8 (b)1,4,8 (¢)0,1,3 (d)1,3,5
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Using Euclid's division lemma, if the cube of any positive integer is divided by 91l
possible remainders are
() 0. 1.8 (b) 1.4.8 (¢)0.1.3 (d) 1.3.5

. L (haeLTeufleauded 31 o MILILEET 2 GiTeney. gl |6-augy 2-MILIL] i o,

b dl B OsTLT cuflansuded 2 aran erebauT 2 pILiLjaeles gn(hhed

3l
(0) 1om (b) 62m (¢)3lm (d) =i
\n ALP consists of 31 terms, 1Fits 16™ term is . then the sum ol all the terms of this
3l
Ca) Tom (b) 62m (¢)3lm (d) -
y 3,\'
‘ ; L_42y42 Ty =23+
(a) )y (b) L (c) 2l 41},-* l (d) (—1'
2ly-21 3y y
dy-3  Ty- 7 '
y 3
9 9y 21yt —42p + 21 iy —2val]
() = (b) =2 el G —(-———
7 21y—21 3y ¥
. X —25=0 -6t Srieuncugy
(2) QuowiQuiessr Sjayser @evamev (b) #LoLonest QoIS a6
(¢) FLoomm GlowiGwessT Siiays6ir (d) smuemesISSTa)H6T
The solution of x* —=25=0is
(a) no rcal roots (b) real and cqual roots
(c) real and uncqual roots (d) imaginary roots
1 3 5
sl o a1eILb QFn1(h sl L Seilsg, (AT]ir 61681 Hewiufletr cuflens
(a) 2x3 (b) 3x2 (c) 3x4 (d) 4x3

For the given matrix A=

5 . AT .
6 the order of the matrix (.»1 ) I

(a) 2x3 (b) 3x2 (¢) 3x4 (d) 4x3

. B augllaunds @J;G&.nmrﬁwﬁ@h AABC opmitb APQR fweunmlesr smpmen i

@QDQ)G!U 36 G\&.165 Lommitd 24 Q.5 A4@LD. PQ = 10 OF.16 6165)6b AB-657 Bt

Gt 10J6

(a) 6 (b) —@&'Lﬁ' (¢) GG—GJ.Lﬁl (d) 15 OF.h

The perimeters of two similar triangles A4BC and APQR arc 36 cm and 24 cm respectiv !
If PQ = 10 ¢m,ithen the length of AB.is

10J_ - 2 |

(c) 66507“ (d) 1S em

2
60— cm
(a) 3c
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10.

11.

12.

13.

14.

- (5.7), 3,p) ommitd (6.6) eradIaT G( Gl Lamtohgema cTasfled p—6ir LOSIIL)

(a)3 (b) 6 (c)9 (d) 12
If (5.7), (3,p) and (6.6) are collinear, then the value of p is
(a)3 (b) 6 (€)9 (d) 12

. A6, 1), B(8.2). CO4) ommud Dip. 3) e1adiLiadi oy @mamiaid et euflers SlgLoLo s

1(bS&ISQBTGTMLILIL L (LpenasIiseil 6Tasflab, p —6bi OB 1L

(@) —7 (b) 7 (c) 6 (d) =6

If the points A(6, 1), B(8,2), C( 9.4) and D( p. 3) arc the vertices of a parallelogram, taken in
order then the value of p is

(a) =7 (b)7 (c) 6 (d) =6
acotd+hcosecd = p LOHMILD beot )+ acosecl) = g etasfley p* —¢* 67 LBy
(a) a* = b’ (b) b —a* (c) a* +b° (d) b—a

If acotf+bcosecd = p and beotf +acosecl) =g, then p* —¢° is equal to

(a) a* —b° (b) b —a () a’ +b* (d) b—a

Fowonest il ib Lommib 2w DLW T D (K6, (6 FalbL LOHMILD &
Ganantb HHweunmlesr sereneyseilesr allbsio

(a) 1:2:3 (b) 2:1:3 (c) 1:3:2 (d) 3:1:2

The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same diameter
and same height is

(a) 1:2:3 (b) 2:1:3 (c) 1:3:2 (d) 3:1:2

GanengHlatt Lynliugling:d FLoLoneidy)

(a) GanensSett QLongSLiITLiL) (b) 215G snengElest GonsstingliLy

(c) 2y dGanensdlesr Lyl (d) @eummleb 671 LOl6LEGV

C.S.A of solid sphere is equal to

(a) T.S.A of solid sphere (b) T.S.A of hemisphere

(¢) C.S.A of hemisphere (d) none of these

P56 20 Buuieh eTettrger et ailevds auidisd Fnel

(a) 32.25 (b) 44.25 () 33.25 (d) 30

Variance of first 20 natural numbcis 18

(a)32.25 (b) 44.25 () 33.25 (d) 30
L9eTeU(mEUGTUMNIGT 6T HAIMITENIS)?

(@ P(4)>1 (D) 0<P(A)<1 (o) P(B)=0 (d) P(4)+P(4)=1

Which of the following is incorrect?
() P(A)>1 (L) 0<P(4)<1  (c) P(¢)=0 (d) P(A)+P(A)_—.1
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10th Std SSLC Model Q.P (TM) Meenakshi Offset Printers

L5

16.

17.

18.

19.

20,

21. 4

22,

U@ 11/ PART - 11
(Lo ICILIaYsTasET 2 24) / ( Marks : 24)

10 allenrdsaemnd: @ oL wads. aflem era 28 -$@ SLLMULONS cilevLwWelldsayLd
Answer any 10 questions. Question no. 28 is compulsory. 10x2=20
A={1,2,3,4} whm>  B=Nerea. Gogyit  f:4— B aauigy f(x)=xerem
UMUMISSILHENS 616360 |

(i) f -6 BsFadensd anens (if) c1elCUSE FTTL) GTeNIS: FHT6vsTH
Let 4={1,2,3,4} and B=N.Let /:4— Bbe defined by /(x)=x*. find

(i) the range of f (ii) identify the type of function

3+k, 18—k, Sk+1 erattues e(m onl' GHGB1LIT anflevaudleh 2 cirenes sresfleh k ~air
oS 1Ly Brievstss.,

If 3+k, 18—k, 5k +1 arcin A.P, then find k.

R0 QUbdGS Qs auflevsuder wpse 2y a=-7 wpmid Cung efEsd
r=6 c1afled QLIS Osm_arfesamiwd; sets.

Find the geometric progression whose first term a — —7 and common ratio » =6.
144a'b " , . . . .

_'___—SIf”gqh” =GUT GU[TSHHLLOGULD HITGHIT . M. PALANIAPPAN, M.Sc. B.Ed.
B.T. Assistant (Maths)

1444°p" " SGHSS., NERKUPPAI, SVG. Dist

Find the square root of ——= % ___
q 8 lfl2g4hl4

2L18,15,--- 61681m Sl (hO0&TL T aurflenauflsh —81 CTSFEOEIWINGIS 2 miL'iL] ? GLogyiLh
Qéam ' (bSOs1 T caufevFulsd 0 QR 2 MIIITEGLOT  CTGTLIS SIS/ GHT
aflardi@s.

Which term of the A.P 21,18,15,..- is —81 ? State with reason is there any term 0 in this
A.P?

R e16h1m % 2.mey{(x, )/ y=x+3,x€ {0,1,2,3,4,5}} e1ewd Qan(ss UL (heTeng).
Qaieymailett LoF 11D Lopmiid efd &b Snesss

A relation R is given by the set {(x, )/ y=x43,x¢ {0,1,2,3, 4,5}}. Determine its domain
and range. -

049 o[
g 5§ g REREES 4o

0 4 9 7 3 8
If AZLE 3 7‘ andB=ll 49
UL $leb, AD eratriig) A -6 @peo@eulty. BD = 4 QF.5,
DC=3 6.5 Lopmitd AB= 6 Q.5 6165fl6b AC —6ir Lol 16w1L1d: Bcdsa,
In the adjacent Figure, AD is the bisector of 4.1f BD =4 cm,
DC= 3cm and AB= 6 em. Find AC.

6165fl60 34— 9B 61 Lo IL S sTetar .

, find the value of 34—9B.

B=Tom D 3em

127
GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377


https://www.padasalai.net
https://www.padasalai.net/
ADMIN
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377


23.

24,

25.

26.

27.

28.

29.

X=2y+3=0 topmibd 6x+3y+8=0 xhw @ CridGan(ba@nd @emidelsTen
CFhIGSSTET™E 6TaNd ML (h%.

Show that the straight lines x—2y+3=0 and 6x+3y+8=0 are perpendicular.
secl—tanf 1—sind o1 )
,’ = 5.
secf 4 tan 6 cosf oy
st ‘secﬂ —tanf St |—sinf .
secl +tanf cosf

45 &8 2 wyapeiten @ @®Ldswngher @m Lm Hymser wpenGu 28 OF.L5
LodmILD 7 OF LB 61651160, @)eOL SHTL GBGHT S68 SIeTeDad; HTCHT S,

If the radii of the circular ends of a frustum which is 45cm high are 28¢m and 7cm, find the
volume of the frustum.

Q&(hdsliL L LyeuedlsT afda snatmas.
QUG (G)J@Lﬁir&aﬂsb) 16-18 | 18-20 | 20-22 | 22-24 | 24-26 | 26-28
LDITGSITGUIT GTGENTGuS 1 enb 0 4 6 8 2 2
Find the range of the following distribution.

Age (in years) 16-18 | 18-20 | 20-22 | 22-24 | 24-26 | 26-28
Number of students 0 4 6 8 2 2

ooty S e wiseT wenpwns @Gy Griddley e L(bEeTnas.
(1) @embSLLFLD (1 L) Hlani_dds LopmiLd

(ii) SHFSLILFLD (15 Bwev FlewL & (FlBLDEB e 16T,

Three fair coins are tossed together. Find the probability of getting
(1) atleast one tail

px’ +(J§ —~2 )
6TGa16Y, p —GiT LoGIIL) HTGHITS.

Find the value of p , when px2+(\/§ -J§)x—1=0 and x=% is one root of the

(i1) atmost one head

x—1=0 er6wd Q&M(h&H&SLILIL L FLOGTUTL QG & ELPGULD xz_j__.
3

equation.
Li@gZ)- 11/ PART - 111
(LF16)cdrseir : 50) / (Marks : 50)

10 el $5(@hdE e wallds. aflen eTel 42 -4@ SLLMWLOTS oL wWeflésa)
Answer any 10 questions. Question no. 42 is compulsory.

A={xeW/x<2}, B={xeN/1<x <4} wppid C={3,5} eresilcd
Ax(BNC)=(AxB)N(4xC) eTapiid FLoGTLTL@LE FfILITTES.

10x5=50

Let A={xeW/x<2}, B={xeN/l<x<4} and C={3,5} verify that
Ax(BNC)=(AxB)N(4xC).
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30.

31.

32,

33.

34.

35.

36.

37.

38‘

S(x)=2x+3 ,g(x)=1-2x opmibh(x)=3x, fo(goh)=(fog)oh e16s [l .

If £(x)=2x+3, g(x)=1-2x and i(x)=3x, provethat fo(goh)=(fog)oh.
QUHUT Far Gupm T 63,000 sLear Fmlild CFeds pged LTS T400
QEQISHIEDT. AT 1IDG PRI LOTHAPLD LPB®SW LoTHLD QausSluams il
300 gn(bgevsd QFsSIADTT. e @bss ST HDLES GTaIINTE] STV
Caanaulii(hin?

A man repays a loan of T65,000 by paying 2400 in the first month and then increasing the
payment by 2300 every month. How long will it take for him to clear the loan?

& (b6 SM6¥T% : 10° +11° +12° +++- 420",

Find the sum of 10° +11° +12° .. 4+ 20°.

x+y+z=5, 2x—y+z=9, x—2y+3z=16 &r6h1D eLpedroy LOTHISGG) SiewLObhS
@(hisenLn Grflueh FLosstnl (bg Csr@LIIe Siay FHTets.

Solve the system of linear equations in three variables :
x+y+z=5,2x—y+z=9,x-2y+3z=16

9x* +12x° +28x" +ax+b eGILIG @Uh (PLP AUFHSD eTerfled a, b ASweupmlesr
LI S®ad ST,

If 9x* +12x* +28x* +ax+b isa perfect square, find the value of @ and b.

I -1

A= 5 e1afley, A> —4A4+51, =0 er60 L.

1 -1 )
If';“;f:‘2 3 , show that 4" —44+51,=0.

Carent @)\meLoblauL'ty GCENmSams 61(Lpd) BlemL s

State and prove Angle Bisector theorem.

(—4, =2), (-3,k), (3, —2)wpdpd (2, 3) ASWD®D LPDOXSETTES Gl TETL
BIDEISSGT LITUIL] 28 F.HGHG 6TaxI60, k -6iT LOHIIL) STavs .
Find the value of k, if the area of a quadrilateral is 28 sq.units, whose vertices are

(-4, -2), (-3,k), (3, —2) and (2, 3).
Yy sl sy lerdssdlear @y LsshSaligDd SLelle) LwewILD
Qruifstnen. @ slicvsaalmbs Sovktisemy lendsddler o sSuflsr gD
Garemrbiger popdu 30° oppib 45° HGD Sevhkea] elersadFlt  2wnb
200 B aTastioly By A ILIcEeTEE B G 2 6iTen G Tavavsnad datms (43 = 1.732)
Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of the

top of the lighthouse as observed from the ships are .30° and 45° respectively. If the
lighthouse is 200 m high, find the distance between the two ships. (\V3=1.732)
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39,

40.

41.

42,

6 Ol md opmud 15 Qb 2w CnewIL @i o (heer augen’s LTSSILD
Gpaugions  Lilddntp o 6rengl. ubs UGG LIPTEIE, datbl) LOHDID
256G TaND Qevewiis angadded BICLCLGEDS). T ibiTe o wytp 9 OF.ub
LoDDID 271D 3 Qe af erefled, LnSHIdHed o eren uelldamentp Bl 6155mad
FnlbLE6T GaHaneu?

A right circular cylindrical container of base radius 6 cm and height 15 cm is full of ice

cream. The ice cream is to be filled in cones of height 9 cm and base radius 3 cm, having a
hemispherical cap. Find the number of cones needed to empty the container.

38 el apid 148 Sypapeiren P Sl o mpower augalled Ceult LLGEDS).
ey Cau'(bio Gung Ganaime@uGdatii'L s 48 DIGGULPEITEN QUL L
angeuons Fons LOLCILCG @@ G Jedstit LT =ibGos ufedr
D WITSHMG HTGEI .

A well of diameter 3m is dug 14m decp. The earth taken out of it has been spread evenly all

around it in the shape of a circular ring of width 4m to form an embankment. Find the height
of the embankment.

50 wnewieuiser 100 (5L SIT5d5 SL65 T1(bdgd CETaTL Hme demeyseT
&CLpd; Car1(bSaL il (heireren. Siaunmletr £’ 1 ofevdsid Fretm s

6T(h&&150\SHMTeHTL
8.5-9.5 95-10.5 [105-11.5|11.5-125|125-13.5
Gmpih (eflewrneg serfled)
LDITGYSI GUI He1TaHT
6 8 17 10 9
GTGUSTGHS %%,

The time taken by 50 students to complete a 100 meter race are given below. Find its
standard deviation.

Time taken

(Seconds)

85-9.5

9.5-10.5

10.5-11.5

11.5-12.5

12.5-13.5

Number of
students

6

8

17

10

9

52 FL(pser CsnaimL £ (b sl 19edlmibs e £LG6 ST(bdsLL(bESIDG). 21bs £1° (5
Bonessfiuing Siebevg) aLLoGHTL S6bevgy) Sl Bnd F1 1 s Bv3 HsLpssames;
H1GTIT .

A card is drawn from a pack of 52 cards. Find the probability of getting a Queen or a
diamond or a black card.
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Lig#- 1V | PART - TV
(o) Qidarssair : 16) / ( Marks :16)

S1pdanemLb flenTdaendi@ el warfldaajLb.

Answer the following. 2x8=16

43. =)

a)

)

b)

44, )

(<24)

(b)

y=xt +3x+2 -6ir euaTLILLD auafhg) geantt LweTu(bdd x* +2x+1=0
GTGYI D FLOGTLIMTL GOL &) (T 5.
Draw the graph of y = x* +3x+2 and use it to solve x* +2x+1=0.

(OR) (16b5v4/)
Q@ Oy auamy @u@Bliui’L grdmg foner Caisddled SLGEMSE)-
QarLi euamguisr Gausto 10 Hibjwenll  aFlsfldaiiiLmed 2 Locw
Crusdng pshiangnslar @UII L GIIS®S AMLUJLD. opmid Gl
auasriguilslr Geusstd 10 E.ub/ioewf] GeopdsliLlLne 3 wenfl Chisneg LG
ASGIIO L FIrSms oL wyGoaflds ubs CETLT g JLbd
HNTS®SI Bl dd)(h.
A train covered a certain distance at a uniform speed. If the train would have been
10kny/ hr faster it would have taken 2 hour less than the scheduled time and if the train

were slower by 10 km/hr, it would have taken 3 hour more than the scheduled time.
Find the distance covered by the train.

OR=5Q&.5, /P=30° wwpmpud P Welmrs  OR-$@ eueJwLLILL
G3315CHML 1968 Bertb 4.200%..5 G\smes. APOR euengs.

Construct a triangle APQOR such that QR =5¢m, ZP =30" and the altitude from P
to OR is of length 4.2cm.

(OR) (=46bevgy)
6 5 wpmib 3 5 2wguperer Qesn(s GFhiGSSTeN 3
grawaer  AC  eretip  gewpuiett  Geb  LLGHeD }
s iguyereraunm Bnieuli(hererg e1asile, y-ebr ol = B it
BTG %. v f:
B C

Two vertical poles of heights 6 m and 3 m are erected above a
horizontal ground AC. Find the value of y.

M. PALANIAPPAN, M.Sc., B.Ed.,
' B.T. Assistant (Maths)

SGHSS., NERKUPPAI, SVG. Dist
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Model-6

Lol eflewndsmeir 200420020 / Model question paper 20242026+

— . M. PALANIAPPAN, M.Sc., B.Ed

LISSITLD - g : A N
BETOQIGHIL - XSTD | ™" T8 T, Assistant (Maths)

&SI - MATHEMATICS | sGHSS., NERKUPPAL SVG. Dist

(ifleuid Lopmid 1olp / English & Tamil Version)
&meuib venay : 15 Hb)ib + 3 toewf] o Guessser 1100
Time allowed : 15 mins + 3 hrs Maximum Marks :100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
Sipleyeny : (1) cadg olandsend Filuns ddals UHans) o erersn cIeLmS
Fiflunjdgistanenerayd. dFFLLBalled  GpUNHLIGET @D
sTEIeLILTGTILLD 2 L awiguinsg QgflaldseayLb.

(2) feud iebevg s@LL e GG CTPHASHELD g
Cemg(hugn@d LweTL(hds Cama(hd. LLAIBET —eUIaISDHE
OetTSleb LiwesTLIh S LD
Note : This question paper contains four parts. ,
GolL : Qelallarnsgner BrehE LigHsmans; QMETGTITL G
' L@$ - 1/ PART-I
(Lo 1O 1e8sT 6T < 14) / ( Marks :14)
- @oliy : (1) @uuifefed 2 irer 14 efleuds@ns @b afleL welldaayLb.
) Qan(hsali(herer preig Lonpm oLsefey sad EHuimes
o ewsg Cainesbis @MW (HLer el uilenayd  GFigg
GT(LPF@YLD.
Note : (1) Anwer all the 14 questions 14x1=14

(2) Choose the correct answer from the given four alternatives and write the option
code and the corresponding answer.

1. g={(11),(2.3),(3,5),(4,7)} eirp njunensy g(x)=cx+8 erew Qan@ssri e
o o f 6iT Lo asch ?

(@ (-1,2) (b) (2,—1) (©) (-1,-2) @ (1,2)
If g= {(I, l),(2,3),(3,5),(4,7)} is a function given by g(x) =ax+/[ then the values of «
and ( are
(@) (-1,2) ®) (2,-1) (©) (-1-2) (d) &1,2)
2. CEI(hSSLILIL(heiTen LILLD GBEGSLD FTILY, (h .
(a) GLoab &#mijLy (b) ompfled) &Ly i
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(c) RETMI&S ssTmen FjL (d) &Ly Siebev = |
The given diagram represents .
(2) an onto function (b) a constant function

(c) an one-one function (d) not a function

3. A=25wpmid B=2% 42 +2% +...4 2 cresfle LNedrau(mauancuple 678 2-evaTanLD?
(2B ez A-goaflL 2% ouflsp (b)) A wpmpib B #iotb
() B Hawg A-g i 1 iflaid (d) A ez B-goailL 1 fsid
If 4=2%and B=2%42%42% +...+2"then which of the following is true?

(@) Bis 2* more than A (b) Aand B are equal
(c) Bis larger than Aby | (d) Ais larger than Bby 1
4. a,b,cerehLian b (b OFTLT auflenaguileh 2 eireme eraaflb, i
-c
@2 b2 ALl @)1
b c c
If a,b,care in A.P then g ik equal to
e O
@2 2 02 @1
b c c
5. SLpdEHTL UDMIET 618 ¥ +i2—a';@¢i FLoLD @)evanev?
¥
¥ +1 i} 1) 1)
(@) — b)|y+— ©|y—=| +2 @ [y+—| -2
y y Yy Y
2, 1.
y* +— is not equal to
Y
s 1) i 1)
) = )| y+— @ y——| +2 @ [y+—| -2
y P Yy Y
1 3| |5 7 . : 4
6. 2X +l5 7[=[9 Slmsuﬂsu, X cr61m iewflaniuids Hr6ssrss.
-2 =2 2 2 1 2 2 1
d
@ 5 —1J " ‘2 —1‘ ©a 2 L lz 2}
ind th 'X'f2X+1 .
Find the matrix X 1 s 717lo s
-2 =2 2 2 1 2 2 1
d
@), —1} % [2 —1] P 2‘ © lz 2] |
2
X =2 s £2+—5--o‘:36b QIGSGLLCBLITG HepLLiLig)
x+3 x =9

(a)(x—-S)(x—3) ®) (x=5)(x+3) () (x+5)(x-3) (d) (x+5)(x+3)
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2

roidie . X —25 X !
On dividing : by 1,+S i1s equal to
X3 x =9

(a)(x—5)(x—3) ®) (x=5)(x+3)  (c) (x+5)(x=3) (d) (x+5)(x+3)

8. AABC -0 AD vy /BAC U @psio@eau’tg. AB =808, BD =668 opmit
DC =3 Q16 6163fl6h 11D AC —a81 Bemrtd
@) 6 QOFif (b) 4 QaB () 3 QF i (d) 8 Ol

Ina AABC, AD is the bisector of ZBAC.If AB =8 cm, BD =6cmand DC =3 em, the
length of the side AC is

(@) 6¢cm (b) 4 cm (¢)3cm (d) 8 cm
9. OFM(HSSLILIL (heTenm LILgEe) PR =26 Qu.if, OR =24 Qg.8,
[PAQ =90", PA=6 Qa8 Lopmitd 04 =8 Q8 cTauflsh | POR Y HI168T.

(a) 80° (b) 85° (c) 75° (d) 90°
In a given figure PR =26cm, OR =24cm, |PAQ =90’ 1 q
PA=6cmand QA4 =8cm. Find |POR % 2
(a) 80° (b) 85° (c) 75° (d) 90°

10. Ganil(hs gyavwi(h PQ-65T &Fridliay % el PO-d@ QFhu@dsnen @meto
Glout" 1gufetr Fmiiiay

1
(@ V3 (b) —/3 Obvry @ 0

1
If slope of the line PQis -\/—5 then slope of the perpendicular bisector of PQ is

1
(a) V3 (b) —/3 (©) " @ 0

11. @@ Ganyysdler 2 wisSn@id wiger Blipedar fensdpe@id o cirer afdsn 3 :1
eT63fl6b, & fliienasts: Smesb T HmEGsness SHGTCUTGH )
(a) 45° (b) 30° (c) 90° (d) 60°
If the ratio of the height of a tower and the length of its shadow is /3 :1, then the angle of
elevation of the sun has measure

(a) 45° (b) 30° (c) 90° (d) 60°

12. Ti SAVGSSET Apeiren e CHTTLILIBS 2 (BSEILIL (D 1, HHUGHEGT S4TAPETEN 8
FL0 GHTGTLILIbSGI56TS HS5SILIhSEDS 6Tesfled, 1, 11, 616hTLIZ)
(a) 2:1 (b) 1:2 (c) 4:1 (d)1:4

A spherical ball of radius # units is melted to make 8 new identical balls each of radius

r units. Then 721, IS SpEEN GARDEN MATRIC. HR. SEC. SCHOOL
1 erundurai R.S.
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B R R R R R R R

13.

14.

15.

16.

17.

18.

19.

(&) 2:1 (b) 1:2 (c) 4:1 (d) 1:4
@@ ST USDL (I LPD 2 (U LLILBLOBUTG) HepLd@GLD 61vT, LIS 66T

AN/ LI GTEITGI 1 Quplisnsne HlsLpssal

5 1
(a) 1 (b) 0 (c) = (d) E
A fair die is thrown once. The probability of getting a prime (or ) composite number is
5 1
(a) 1 (b) O (c) r (d) -
b.a
&G1p Qan(hHaLILL L eauS6Ieh 6T/ LITAIGL SaTamal Bevemev? o’ &
i - -
(a) g & (b) £’ L @flevdisLb é@%ﬂb-
(c) gL’ (hg gl () afevdas aufds Fyngf QQ?* &é‘ %?
Which of the following is not a measure of dispersion? \i\‘?‘ (}J,Cb qu :
(a) range (b)standard deviation V‘i‘&fzs' <<,<}-4‘_ :
(¢) arithmetic mean (d) variance Q\QYQ;' %‘\'
T
L@~ 11/ PART -1I -
\f-: _
(oG iasaser : 24) / ( Marks : 24)
10 e sensE ealeL werllds. elleT Tet 28 -4 SLLMULITE aflenLwerfldsayLb
Answer any 10 questions. Question no. 28 is compulsory. 10x2=20

famg Relmhgy R-&@ pen Fnfy e1eis . Gogib g f [x)=3x—5érrco‘r
aorunsaiL@Gang. (a.4) wipd (Lb) Humsa f-6 ocTeran 6TaNS
Qan(hsaliLaeha LoHmID b -uieT LG ILSEmENS HTGETS.

Let fbe a function from Rto R defined by f (x)=3x—5. Find the values of aand b
given that (a, 4) and (l,b) belong to f

R={(x,—2).(-5,y)} ez ewalld snjemus @GPSSELoald  xLODDIDY
B IUDDIGT LOKIIL |56 S5 HITETTS.

If R={(x,—2),(-5, y)} represents the identity function, find the values of xandy.

@ Ll (b Ly afloguicvt, —1, =32 cTeslle 2Agedt g allgSlnsseansd
HITGUSTS.

Find the common difference of an A.P in which #; —1,, =32

3x El(modlﬁ) GTGHTID FLOGTLITL LY@ GTHSMGNT (LP(LP CTGHT STay&6i 2 6iTare 616w
FIT6801 .

Find the number of integer solutions of 3x =1 (modl 5).

& (h 6L &168d : 1+3+5+---455.
Find the sum of 143+5+---455.

GREEN GARDEN MATRBS5. HR. SEC. SCHOOL
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20'

22,

sneniiiLi(hdse (papuileh Hidis : 2x* — 2J6x+3=0.
Solve by factorization method: 2x* — 2J6x+3=0

. w1 B ; :
. @ T pmID ST sV ASweupnflesr alldShuimned -S—c;mrﬂcu, b

GTGOIT NG & HITGIT .

. 24
If the difference between a number and its reciprocal is ik find the number.

s 13 .
Tx' +ax+2=0 GI6D FLOGHUIMLLYGH eLpeuriseir o, LOHMILD ﬁ—a'=—7 cTGuleb,

a7 AL ST,

23.

24.

25,

26.

27.

If a,3are the roots of the equation7x* +ax+2=0 and if f—a= —% , then find the
value of a.

(=2,6) opmud (4,8) eretrp Lyeirelsafler aufld Qersvgin GrrsGanLmeugy (8,12)
wpmid (x,24) erehim Lyerafiaeflesr eufld Gasbeyid GrisGamiyne CFhEGss!
G636 x 68T LK IL) HTCUNT .

The line through the points (—2, 6) and (4,8) is perpendicular to the line through the points
(8,12) and (x,24). Find the value of x.

5043 18 swgaperer @ Lmepuls 2 &8ulms 30° @nsssGanansdle

sauilevierer Lokl eTml LnidastihEns e1asiled, LoElppSD@Ld LTeDSEGLD
QL GuiyeiTen C\FHTaneVaaId: HT6ETS.

- From the top of a rock 5043 m high, the angle of depression of a car on the ground is

observed to_be 30°. Find the distance of the car from the rock.

Q@ Sl Camenid wHmid Slers mIHGCHTaTd ASWuDVIET ClLoTss
LIgLILIGNeY&6T FLoLD 616360 eudnfletr saisienayseflesr e EsLn 33 : 4 e1a L.

A solid sphere and a solid hemisphere have equal total surface area. Prove that the ratio of
their volume is 3v3 : 4.

s 21 Quicb eratgaflelr I L aflevdssmsd: HT6Hs.

Find the standard deviation of first 21 natural numbers.

A wppis B afw Qo ewmewiiugngiser  IT-uflev  GFieaugnsnssd
&1 prieuiser. Qaujsefle A Garkoshaslibagnate Hapssa 0.5. A
oo B @ueuepty  CHihes(hEsLL(beusnsner Blabssey 0.3  ereafleh, B
Caes(b daLI(huSDEHT6w AFSLLF HlEpgsa) 0.8 6Ta KlemiNds,

Aand B are two candidates seeking admission to IIT. The probability that A getting selected

is 0.5 and the probability that both Aand B getting selected is 0.3. Prove that the
probability of B being selected is at most 0.8

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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—

29.

30.

31'

32.

Yo, AL — 3 WIdWL , 1 L — U wioime 3 ——a -
BC =3PQ e16v1 [Hmays.
P and Qare points on sides 4B and AC respectively of A4BC . If AP=3cm, PB =6cm,
AQ=5cm and QC = 10cm. Show that BC =3PQ.
L@~ 111/ PART - 111
(P Qctsaer : 50) / (Marks : 50)
10 aflewr @@ efleoL wellda. oflaw 616l 42 -5 &1L MULDTES il werfl&Ea|L

Answer any 10 questions. Question no. 42 is compulsory. 10x5=50
L9GSTQU(RLD F1fLjBaITIGT LS ILIGHIEEDGT 6T(LRSI%.

() f(x)= Zxx_*'l (ii) g(x)= \/;_—\/__2_

Write the domain of the following functions : (i) /(x)= ixj l (i1) g(x) =yx—2,

e
f:R-R wpmb g:R—R eredrew @Gmg)@tuf(x)=x5 LDQ')Q]ng(X)=x4 67637
QUDIWNISSILLLID f,g AN eiTmIS0IETGTDTCTST GTaiIaLD fog GI6STLIG]
QT MU SCNSTGHTDIGST FTTLMTEGLOT GTIGYLD /T TIIS.

If f:R—R and g:R— R are defined by f(x)=x5 and g(x)=x4 then check if f and
g areone—one and fog isone—one?

@ =Ll (bs QsTLy aflosuied wpged p o miiysefler Fa(bged ap’ +bp 616Gy
2Aga6tT Qg NSHunFsHlenend; H16555.

If the sum of the first p terms of an AP is ap” +bp . Find its common difference.

Q@ BT b HmieaigSled Gienewt GLoTGTTTEL Lessiluiled GFFEHDTT. SiaumebG,
SuBEDIIGHLD (LpHEL Lo 2arFlwiLons I 60,000 QULPRIGEDG LoDMILD 24e8eT(h el
o Wje 5% "mg,p@@mg,n& RUILSOETGTEDS). 5 QUUBL (LPLY6Tleh HQUHE®LW LTS

- oadlLh eT6lIeueTEYy?

33.

34.

A man joined a company as Assistant Manager. The company gave him a starting salary of
260,000 and agreed to increase his salary 5% annually. What will be his salary after 5 years?

(c’ —ab) x* — Z(a2 —bc)x-{-bz —ac=0 GIGIN FLOGTLIML LQGH eLPGUAIGET GLowI LommiLt

FLotb 6Tesfleh a =0 Heveugy @’ +b° +¢ = 3abc cTa HlmL.

If the roots of the equation (c2 - ab)f —2(‘:12 —bc)x +b*—ac=0 are real and equal
prove that either a=0 or @’ +b’ + ¢’ =3abc.

a* +4a—12, a*—5a+6 era@id LevemILiLGCsTmeuEaTer BT a—2 66l
DI IS S TSN LB.LILIM.LO HT6HTS.

Find the LCM of the polynomials a* +4a—12, a* —5a+6 whose GCDis a—2.
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35,

36.

38.

39.

40.

41.

A:[l 2}3:[ { 3],(?:[_: j]m‘uﬂsiJA(BC):(AB)C 6160l (himie|h.

3 4] =1 3
If A:[l 2] B:[ v 3], :[_l 5], prove that A(BC)z(AB]C.

3 4) -1 5 1 3
APOR -0 @ugliudad QR 5@ Qhigdans o.eren PS Aagl OR-g S
8355, GLogyid, 0S = 3SR ereifled 2PQ* = 2PR* +OR® 6160 Bmiays.
The perpendicular PS on the base OR of a APQR intersects OR at S, such that QS = 3SR.
Prove that 2PQ? = 2PR* + OR".
4(6,2),B(=5,—1) wipmpip C(1,9) aflwapemn wpaansannss GsneL. AABC ~GhT
e A uleSmha  euenmwiiL(hLd m(h&@&En(h  LoMMILD &S 515CSHTL 19657
FLOGSTLIM(H EENT S HTGOT . '
Find the equation of the Ynedian and altitude of AABC through 4 where the vertices are
A(6,2),B(—5,—1) and C(1,9).
cos’ A+sin’ 4
cos 4+ sin 4

[

—6b

= 2sin Acos A 6760 [FlemL95:.

cos® A—sin’ A4 B
cos A—sin A

cos’ A+sin’ 4
cos A-+4sin A

3 g eyl
cos” A—sin" 4| —2sin Acos A.

cos A —sin A

Prove that [

Q5 FaLblehr @enL disevsL gFlest Fmuyuigid 10 Qs .18 A@LD. g5 GLopLD, SLpLiLjm
L' L L@ dlsatlett Hmmenay 28 Gs.8,18 Qa.u8 6T6M16h HIGH6HT GUEDGTLITLIGDLIS: BTCVITE?
If the slant height of the frustum cone is 10cm and perimeters of its circular base are 18cm
and 28cm respectively. What is the curved surface area of the frustum?

6 GlF.Lf b opmid 15 Qs 2w CETEETL Q@ 2 (Heveneugeuls LindSysEe
PGS LGS 2 6Teng. Dibdll Ll lpnand), nibl] LOHMILD
2 S5GHnenDd @menihs augeugsded BriiibEng. s 2 wod 9 Qw.s
Lopmitd At 3 Qb e16wlled, LTSEySdled o 6enr Lafldamaip B e1dsmen
FnLDL&H6T CHenau?

A right circular cylindrical container of base radius 6cmand height 15cmis full of ice
cream. The ice cream is to be filled in cones of height 9cmand base radius 3cm, having a
hemispherical cap. Find the number of cones needed to empty the container.

Llssraupid SiLeuenamiuiled G L6 GG LG U@Ly LonewreuTseess 2w
LPYID eI &aflesr Fpned] wpmib olewds aids FgnFfl uHw ENINES )
@63”@65<5UUL@GTTGHG§T Qaunmleb 6151 LoHDIGT®D Al Hif)s CaumyLin(y 2 L UWIG?

2 wiyLh GTGOL

sy 155 Qes8 | 46.50 .8 |

Mevds aufdaFgnef | 72.25 Qz.8” | 28.098.8°
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- . . : . 3 . y l Oth
The following table gives the values of mean and variance of heights and weights of the

standard students of a school. Which is more varying than the other.
Height Weight
Mean 155cm 46.50kg
Variance | 72.25¢cm? | 28.09kg’

42. ([ BAGWLD eLpesTmy (pep Fe¥IL L i(bES). Fild @esa(h SMVEGT HHeVVS
GODBSULFD e Ly deveugl AbdH(bdSi @rein(h BOVSET ELLILISDHTET
BIBLOBHE®AIS HTGHTE.

A coin is tossed thrice. Find the probability of getting exactly two heads or at least one tail or
two consecutive heads.

U@@- IV/PART -1V
(P RLeTaEer : 16) / ( Marks :16)

BLpsamemy b aflesnds@rndi@ oflenL werldsaLo.
Answer the following. 2x8=16
43.2)  OR-g SQLidsionas Qsne @ wpdGanamiset QPR wopmitb OSR ~GbT
oayjareflser  Popmid S-60 Qe miGSTambIGaTIS ALOLS/GTENTE. 8w
WpGsnemius@pd OR-681 @Gy LdssHled emiopgyenene. PRLoppib SO
erehim Ldstiser Terap Ljeraiuiey Fhpdlddlermen erafled, PTxTR=STxTQ

6T [Blmiay . .
a) Two triangles OPRand QSR right angled at Pand S respectively are drawn on the

same base on the same side of QR. If PR and SQ intersect at T, prove that
PT xTR =ST xTQ.
(OR) (<i6bevg)
Q) 6QesallLapeTeor LLLD kg LLSEHET LGS HES 8 O .8
Gsraevaileh P eresim Lyeieilenwd @pldaab. Siliyerafluiledlmbs PA opmyid
PB e1attm @ O31(hCa1(h&6iT euannbdy eummlast herhigamen Sienail(hs

b) Draw a circle of diameter 6¢m from a point P, which is 8cmaway from its centre.
Draw the two tangents PA and PB to the circle and measure their lengths.

44.2) y=x>—5x—6-GT QUILLLD QUJEE, AF®MILI LWGTLI(hdd) x* —5x—14=0
GTGSTID FLOGHTLIMTL GO ST HEHA|LD.

a)  Draw the graph of y =x’—5x—6 and hence solve x* —5x—14=0,

(OR) M. PALANIAPPAN, M.Sc., B.Ed.
(160a05/) B.T. Assistant (Maths)

' SGHSS. NERKUPPAI, SVG. Dist
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